UGC NET 2021 Linguistics

Topic:- GP_Set2_C
1) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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India’s cultural diplomacy is centered around

(A) Ramayan

(B) Multilateral engagements

(C) Business Promotion

(D) People to people contacts

Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (A), (C) and (D) only

(3) (B), (C) and (D) only (4) (B) and (D) only
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(C) =AMR-waHA
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(1) = (A) 317 (D)
(2) == (A), (C) 31 (D)
(3) ¥ (B), (C) 377 (D)

(4) == (B) #ik (D)

[Question ID = 3557][Question Description = Q46_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13691]
2.2

[Option ID = 13692]
3.3

[Option ID = 13693]
4. 4

[Option ID = 13694]

2) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
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people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets

(B) Yoga

(C) Cricket

(D) Ramayan

(E) Sanskrit

Choose the correct answer from the options given below :



(1) (A) only  (2) (A), (B), (C) and (D) only

(3) (A) and (D) only (4) (A), (B), (D) and (E) only
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3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Which of the following is not reflective of India’s soft power status?

(1) Digital India (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy
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4) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various

layers of society is considerable.
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Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology

(B) Folklore

(C) Tourism

(D) Yoga

(E) Education

Choose the correct answer from the options given below :
(1) (A), (C), (D) and (E) only  (2) (A), (B), (C) and (E) only

(3) (A), (B) and (E) only (4) (B), (C), (D) and (E) only
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1 [Option ID = 13703]
2 [Option ID = 13704]
3 [Option ID = 13705]
4 [Option ID = 13706]
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5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The passage highlights



(1) The emergence of India as a super power

(2) The role of culture for peace and harmonious relations with other countries

(3) India’s cultural hegemony

(4) India’s relations with BRICS countries
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Topic:- GP_Set2_A

1) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs z0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% d
October 8% W
November 12% il
December 16% e
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What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same
company?

(1) 119 : 145 (2) 116 : 135

(3) 119 : 135 (4) 119 : 130

DELL =m0t = g 5eis 331 famean 9 s 72 fafs woorst i g = sgard o= 27

(1) 119:145 (2) 116:135
(3) 119:135 (4 119:130
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4. 4 [Option ID = 13714]

2) (Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% &4
August 22% 4:5
September 25% 3:2
October 8% e
November 12% 7:8
December 16% Y

freAifRa @ifer 1 =99 © 2 fags vk faghan & g 978 2019 § faEest 2019 9% 59 U S o
% faao it wlaemar 9 HP =R DELL #0241 =+ @9F 1=t 1 g Fef @t & #m= % omqema
FIET T 7| T st ° e adt sl gt i g wen 45,000 (darfem www) 21 Ao | fag o
TS F HUR T 977 FH I 3

DELL i
JeE 17% 8:7
ST 29% 4:5
T 25% 3:2
AT 8% 7:5
T 12% 7:8
Temw 16% 7:9

If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during
that month were sold without a discount?

(1) 882 (2) 1635

(3) 1638 (4) 885

ST Faren § HP #0091 % 356% el wors gz un s o o1 w6 ade § HP we & e s s




Lisa B3 B o S it e N S

(1) 882 (2) 1635
(3) 1638 (4) 835

[Question ID = 3563][Question Description = Q02_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4. 4 [Option ID = 13718]

3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% &9
Augusat 22% 4:5
September 25% 3:2
October 8% e ]
November 12% il
December 16% Y

feAifeRa Aifer 1 w9 ° 2d fams vk faghan & g7 9o 2019 ° faEmst 2019 9% 5= 70 FSf T
% faawo 1 ufaemar a1 HP @in DELL w21 % @9 siata 5 fafia Fef ot & = #1 smoa
FaItEr T 7| g st | e adt fsf gt i s we 45,000 (darfem wew) 21 e | fag e
STHS *F HUR T T77 H I 3

DELL i
JeE 17% 8:7
ST 29% 4:5
e 25% 3:2
AFZAT 8% 7:5
T 12% 7:8
Temr 16% 7:9

If the dealer earned a profit of Rs. 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?

(1) 6,49,900 (2) 6,45,900

(3) 6,49,400 (4) 6,49,500

3R 3Tgst % oo™ DELL S0 & fashar o wedsh [ @k o5 %, 433 0 @ Wi fRa 9 29 e

3§ et 1 v e firem ?

(1) £ 6.49.900 (2) ¥6.45.900
(3) 16.49.400 (4) ¥6,49.500

[Question ID = 3564][Question Description = Q03_GP_20NOV_S2_SHAAN_Shift2]



1 [Option ID = 13719]
2 [Option ID = 13720]
3 [Option ID = 13721]
4 [Option ID = 13722]

AN wnN -

4)  Consider the following table that shows the percentaze (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs z0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together iz 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% e
October 8% ih
November 12% il
December 16% e

AT aifern 1 & © 2 fogd vk faghar & grr 9enms 2019 © fa@est 2019 9% == 7o FHsft g
% faawor 1 ufqemar a1 HP #in DELL w3t = a9 sty 9 fafim fefi et = = #1 s
Zon T 2| g st | T adft S @ i 5w @e 45,000 (Fartom wAR) 20 e § f2o o
FTHS % ATUE T YTF H I G

DELL i
I 17% 8:7
T 29% 4:5
e 25% 3:2
ATz 8% 7:5
AT 12% 1:8
famr 16% 7:9

The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company
HP during December?

(1) 110% (2) 140%

(3) 150% (4) 130%

A % BAH § HP 001 % g o9 70 1 S 61 5 [5Esn % 5eH § HP #eE] % grl e T

(D 110% (2)y 140%
(3) 150% (4) 130%

[Question ID = 3565][Question Description = Q04_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13723]
2. 2 [Option ID = 13724]
3. 3 [Option ID = 13725]
4. 4 [Option ID = 13726]

5) Consider the following table that shows the percentaze (%) distribution of the number of



Fersonal Lomputers (Fws) solda by a dealer Irom «July 1o December-<U1Y and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Augusat 22% 4:5
September 25% 3:2
October 8% 18
November 12% il
December 16% i)

AT aifern 1 & © 2 fogd vk faghar & grr 9enms 2019 © fa@est 2019 9% == 7o FHsft g
% faawor 1 ufqemar a1 HP #in DELL w3t = a9 sty 9 fafim fefi et = = #1 s
ZIET T B | T At g e et fef g & 3w 45,000 (dETiem wEw) 2| Ao § i o
FTHS % ATUE T YTF H I G

DELL i
I 17% 8:7
T 29% 4:5
e 25% 3:2
ATz 8% 7:5
EE=T 12% 7:8
famr 16% 7:9

What is the total number of PCs sold by Company DELL during August and September together?
(1) 10000 (2) 15000
(3) 10500 (4) 9500

3T wE T g 98l § DELL #00 * gr & T et 5 Sorni i g e 27

(1) 10000 (2) 15000

(3) 10500 (4) 9500

[Question ID = 3566][Question Description = Q05_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13727]
2.2

[Option ID = 13728]
3.3

[Option ID = 13729]
4. 4

[Option ID = 13730]



Topic:- GP_Set2_B

1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

forer = 3w war T eTTeTEATeR S 9= % 399 1 GEAY HEE A 27

(1) fdw®m (2) AT T
(3) famefi-fa=7 = (4) w=ET = T

[Question ID = 3567][Question Description = Q06_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13731]
2. 2 [Option ID = 13732]
3. 3 [Option ID = 13733]
4. 4 [Option ID = 13734]

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher
task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given
below :

(1) (A), (B) and (C) only (2) (A), (C) and (D) only
(3) (B), (C) and (D) only (4) (C), (D) and (E) only

s fafmme 3 & %9 = =Eem 19 fEE o T 27
(A) ==

(B) forerm—Fr-qaifaee

(C)  =ew Tafasman

(D) TB-TqEa

(E) Yazas

F= f2u v fawe B | wE 39w 99 A

(1) = (A). (B) 37 (C)
(2) A (A). (C) 31 (D)
(3)  =Ad (B). (C) 3 (D)
(4) = (C). (D) #W (E)

[Question ID = 3568][Question Description = Q07_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13735]
2.2

[Option ID = 13736]
3.3

[Option ID = 13737]
4. 4

[Option ID = 13738]

3) Match List | with List Il gives their characteristic features.

List | List Il

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation (I) Compares one student with another student

(B) Summative Evaluation (lI) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (lll) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (IV) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A)-(1V), (B)-(11), (C)-(1), (D)-(I) ~ (2) (A)-(li1), (B)-(IV), (C)-(IN), (D)-(D)



(3) (A)-(I), (B)-(D), (C)-(1), (D)-(IV)  (4) (A)-(), (B)-(I), (C)-(IV), (D)-(I)

TH1-1 % |1y geAi-11 =7 e Fifsm) 9o =t goar i fatie aglaat 1 2, 938 5 o 55 =it
e i 2| g1 v gL e

-1 711
TeTFA-Tgh e
(A)  Tmiome e (D) v feemeft 1 g famnefi & gemn Fa 2
(B) HHEHTHF Hoaia (1D v% faemsff i oo @ foifm == @
Al 2|
(C) Fr=w i gearsa (ITT) wome: wfem 6 afamon w3 @9zE %
ECtRE
(D) wEF T goar (IV) wymg: Fuus wifg & g 29 096
& 21

A fou v famegt @ ® @ 3T W =8 i

(1) (A)-(IV). (B)-(III), (C)-(I). (D)~(II)
(2) (A)-(TID), (B)-IV). (C)-(II), (D)-(I)
(3) (A)-II), (B)-(D). (C)-(III). (D)-(IV)
(4) (A)-(D), (B)-(ID). (C)-(IV), (D)-(IIT)

[Question ID = 3569][Question Description = Q08_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4. 4 [Option ID = 13742]

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living.

Statement Il : According to reconstructionist view of education the new social order must be ‘genuinely democratic’.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

I 21 Fya faw o B

F94 (D) : e = st (wifaefiar) 2o =1 o geya fogea & & e 9= asfifa f
AT T wAg 7w 99 W E o SfE wET =

F (1) v < yEEOEE] e g % smER = gt see My w9 8 gErieen
_F:ﬁ"l El Eo':"\

I HE * ATAF °, = 5w e 9 9 e 3w = il

(1) = () =18 (1) 341 72 &

(2)  FE (1) R (1) 3 3793 7

(3) e (I) &eF 3, wtF = (1) /e 2
(4) e (I) 3@ 2, AfF= Fom (1) ¥ 2

[Question ID = 3570][Question Description = Q09_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13743]
2. 2 [Option ID = 13744]
3. 3 [Option ID = 13745]
4. 4 [Option ID = 13746]

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’.



Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

Hi= 3 wuA 5 T F ;. uw AfYwYT (Assertion A) % ®9 # feffiga & af ?HEHEEWW (Reason R) &
w0 H :

AR (A) foem, feE vd wIfaTEEAl % ASY AHIATHS UH AR fAEr R HHEE
FIAT B, ¥ T2 AT v uiEr g fium )
A (R) R o1 o s b Mt A B o | A B et e R e e ) e ]

IR A AT °, = fon T et § 9 e ST 3 S =E i

(1) (A it (R) ZHT =2 & 3fi (R). (A) = @@l = 2

(2)  (A) R (R)FA FE E, T (R), (A) F w6 = 1w e
(3) (A &, @A (R) 781 79 =

@) (A= FE R, T (R) T ®

[Question ID = 3571][Question Description = Q10_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13747]
2. 2 [Option ID = 13748]
3. 3 [Option ID = 13749]
4. 4 [Option ID = 13750]

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

freferfas omal 8 @ Frag Ay A i T & T R S 20

(1)  =eT-gva-gard (2) i g
(3)  UARERE ArAAEE (4)  TETIEEE HETE

[Question ID = 3572][Question Description = Q11_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13751]
2. 2 [Option ID = 13752]
3. 3 [Option ID = 13753]
4. 4 [Option ID = 13754]

7) ldentify the main features of ‘qualitative research’ from the following :

(A) It is concerned with understanding the phenomena from the participant’s perspective
(B) It assumes that there are social facts with a single objective reality

(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process

Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only

(3) (B), (C) and (D) only (4) (C), (D) and (E) only

= & ot femreaTett | ©@ Tomen sy i gEe =

(A) =g glawrl = giss o "o % SEEy ° gesiad gl
(B)  3HE 7% AT W1 2 HETE A27 Faw OF e e ¥ 5 B
(C)  ivamefl adm T e feafEn § fe A A 2

(D)  =eneff gewE o = % AU o9 ST W AemEE I g A o Al

(E)  3o# wome wd sE-gERaT 291 °§ ST 5 2

Hi fau v famewi @ ® @ 3T w1 =84 it

(1) =& (A). (C) 7R (E)



(2)  =&aE (A). (B) 7R (C)
(3) = (B). (C) 3 (D)

(4)  F&E (C). (D) 317 (E)

[Question ID = 3573][Question Description = Q12_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757]
4. 4 [Option ID = 13758]

8) Match List | with List Il :

List I List Il

Methods of research Features emphasized

(A) Experimental (I) Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (Il) Status of facts and conditions are ascertained

(C) Descriptive (lll) A variable is manipulated to see its effect on other variable

(D) Historical (IV) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below :

(1) (A)-(h, (B)-(11), (C)-(lin), (D)-(1V)  (2) (A)-(11), (B)-(1), (C)-(IV), (D)-(lI1)

(3) (A)-(1n), (B)-(IV), (C)-(ID), (D)-(1)  (4) (A)-(IV), (B)-(Il1), (C)-(1), (D)-(11)

=11 F = g=-11 1 Toem Fifsm
-1 T=i-1T
71 TgieE s T
(A) wEFTEEH () AT HEE=AT W 9 od 50 TMAEE
i @i 1 e w A
(B) MM (I) ufifeafaal va awai #1 feafa gHtr=aa i
R 2
(C) =vHHS (ITI) ZH =% 92 U9E @A F o o =90 H 2
T S R
(D) UiTETE (IV) fawe +1 @9 &9 7U Amfs s 9=

= f5u e e B H HE 3 R A i

(1) (A)-(D). (B)-(IT). (C)-(III). (D)-(IV)
(2) (A)-(ID). (B)-(D). (Cy-(IV). (D)-(III)
(3) (A)-(IID), (B)-(IV). (C)-(II). (D)-(I)
4) (A)-(IV). (B)-(IIL). (C)-(I). (D)-(IL)

[Question ID = 3574][Question Description = Q13_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13759]
2. 2 [Option ID = 13760]
3. 3 [Option ID = 13761]
4. 4 [Option ID = 13762]

9) Given below are two statements :

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter.
Statement Il : ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 31w foaw T E

F97 (D) FIEYE H A -TavelNe Uh g HE B % S EE - A S
FT (1) : FEEF % STH Ui = § e diL A, gEe wan B

IYUTF FYF F AEE 0, T B v e # ¥ o 39 %1 == Fifaw




(1) = () =i ID 34 709 &

(2) = (I) 3 (1) 3T 378 2

(3) w9 (1) 73 2, @ =9 (I11) 3190 2

(4) = (1) A5 2, @i w9 (1) #eg 2

[Question ID = 3575][Question Description = Q14_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13763]
2. 2 [Option ID = 13764]
3. 3 [Option ID = 13765]
4. 4 [Option ID = 13766]

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HO) is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

I 3 F9F fRu U ;o wfiweE (Ascertion A) % 9 § foifigd & @ EL =I5 FA0 (Reason R) &

EqH :

R (A) : 5@ Tl afweTar (UHo) iR w4 I 2 Al AqEeEEal f g
(w=r:) == = e R

F (R) : i afeer (vm0) vF mEiTE ufiweT T B AR vE (UE:) '@ ' OF FhEm

TR { #7 qieT Eﬁ?&fh £ affa § o 5 2
ST YA % A o, = fou e fokedt 8§ | awE 9w I o 99 i

(1) (A) =R (R) 3 WA & &7 (R). (A) 7 787 = 2

(2) (&) ¥ (R) 3 HE 2, = R). (A) F H8 = 96 8
(3) (AT E, @ (R) 78 76 =

4) (A TE FE 2, @i (R) wE R

[Question ID = 3576][Question Description = Q15_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13767]
2. 2 [Option ID = 13768]
3. 3 [Option ID = 13769]
4. 4 [Option ID = 13770]

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of
pauses?

(1) Linear Model of Communication (2) Interactional Model

(3) Non-Verbal Cues (4) Para-Language

fr=fafms 4 & Fi9 wmeE @6a F1 A5 33w 7 e smr-wme (fm), = (=), 7 (399)
S fermy (9is) =1 ST e &7

(1) @@= i gisa (2) waEE Tgha
(3)  3THYHIT Tehd (4) U am

[Question ID = 3577][Question Description = Q16_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13771]
2. 2 [Option ID = 13772]
3. 3 [Option ID = 13773]
4. 4 [Option ID = 13774]



12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise.
Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

Fr 21 o fow T 2 oF AfMFEH (Assertion A) F ¥4 H fafEq ® 1 550 30 FEW (Reason R) F
A

HAFA (A) AOEY F Ty § SEURUTeE T Tied W Seed wdl & 9 wfees-uin
(FS-=m) Fed B

F (R): I M FEadTE Sl % A0 991 % || mieem - A A

IO FYA F A 1, A 5w e Tt 3 @ we 9 I # 96d Hie

(1) (A) ¥R (R)7H =4 £ @R (R). (A) F1 =78 =wen 7

(2) () ¥R R) T T4 2, A (R). (A) F1 97 =wen 774 2

(3) (A R, T (R) T 2

(4) (A =E TF 7, witE (R) @R 2

[Question ID = 3578][Question Description = Q17_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13775]
2.2

[Option ID = 13776]
3.3

[Option ID = 13777]
4. 4

[Option ID = 13778]

13) Given below are two statements :

Statement | : Appropriate word choice is an essential of effective oral communication.

Statement Il : Facial expression and postures fall under visual communication.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 31w faw o 2

9 (D) : THTE TTEF T B FEF TES] T AETIE A
Fo (10) : Hifgs 99 w3 G grE-amEn % e 2

I HU F w6, S 2w el 9 8 w39 o= i

(1) = (1) 39 (ID) 21 a9 2
(2 = (D) ok 1) 3 s #
(3) = (1) a2, = = (1) 5190 2

(4) = (1) 76 2, wih e (1) 909 &



[Question ID = 3579][Question Description = Q18_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13779]
2. 2 [Option ID = 13780]
3. 3 [Option ID = 13781]
4. 4 [Option ID = 13782]

14) ldentify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (D) and (E) only

wrgifefad gt 7 ° Jrge # Sranet F# 1w -
&) T

(B)  =ufta sgw

(C) == wd foram =i Fzag =

(D) == v R = e ag

(E) T %9

A= f2u v el § | HE 390 w1 =59 S

(1) == (A) 31 (B)
(2) = (B) 37 (O)
(3) & (C) @i (D)
(4) == (D) #R (E)

[Question ID = 3580][Question Description = Q19_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13783]
2.2

[Option ID = 13784]
3.3

[Option ID = 13785]
4. 4

[Option ID = 13786]

15) Match List | with List Il :

List | List Il

Types of Communication Main features

(A) Downward Communication (I) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (Il) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (IV) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(D, (B)-(11), (C)-(1V), (D)-(lI1)  (2) (A)-(11), (B)-(1), (C)-(lD), (D)-(1V)

(3) (A)-(I, (B)-(IV), (C)-(), (D)-(I1)  (4) (A)-(IV), (B)-(llI), (C)-(I), (D)-(1)

-1 = =y -1 =1 foem Fifoe
I THI-1I
HE o TR e fasran
(A)  FrIE EE (I) HE % HEEA H e i ATEYEEdT
W1 A o THET | e 2
(B) 3wt weg (I) FE-TH=77 &d [9F o4 °H uH F9Ent

T T 2



(C)  &ifas weg (IIT) =ame faval v wwenar 6 ofqgfe & @y
=l A 2

(D) Tu-arsd Gy (IV) Tl i oo =1 98 wd-gmEE gEEn
T 7

I 20 U e § W T 398 @ 989 S

(1) (A)-(Dy. (B)-(II). (C)-(IV), (D)-(I1T)
@) (A)-D. (B)-(D). (C)-(IID). (D)-(IV)
(3) (A)-(III). (B)-(IV). (C)-(D). (D)-(II)
@  (A)-AQV). (B)-IID). (C)-AD). (D)-@)

[Question ID = 3581][Question Description = Q20_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3. 3 [Option ID = 13789]
4. 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200
(3) 300 (4) 400

7fg Famea, fawarea =1 25% 2 o oy it i Fm 2 7

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13791]
2. 2 [Option ID = 13792]
3. 3 [Option ID = 13793]
4. 4 [Option ID = 13794]

17) A seller mixes 26 kg rice of a price of Rs. 20/kg, with 30 kg of different variety rice of a price of Rs. 36/kg. He sells
both the mixed rices at Rs. 30/kg. What will be the profit in percentage?

(1) 5% (2) 10%

(3) 15% (4) 20%

s fagar 26 et 9== 5. 20/FFa1 & 27 W wiiz w1 o0 g wEE w30 e == e g e e
354 %, 36/ % 7 W wlEr o1 ok 5w wen fafim gu wmEe w30/ F 3w s 2 I A
=1 faeraan a3 7r 7

(1) 5% (2y  10%

(3) 15% (4) 20%

[Question ID = 3583][Question Description = Q22_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4. 4 [Option ID = 13798]

18) A milk man purchases milk at Rs. X per litre and sells it at Rs. 2X per litre. Still he mixes 2 litres of water with every 6
litre of pure milk. What is his profit percentage?

(1) 33.33 (2) 66.66

(3) 133.33 (4) 166.66

w Fg-Toha 5. X/ = @ W 39 wig 5. 20X/ F @ W Al 2| 99Eg 36 98 2 e o
T 6 e WG g9 § fien Zar 21 36 @ it uiewmken 4 2 7

(1) 33.33 (2) 66.66
(3) 133.33 (4) 166.66

[Question ID = 3584][Question Description = Q23_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13799]
2. 2 [Option ID = 13800]
3. 3 [Option ID = 13801]



4. 4 [Option ID = 13802]

19) The average monthly income of P and Q is Rs. 5,050/-. The average montly income of Q and R is Rs. 6,250/- and that
of P and R is Rs. 5,200. What will be the monthly income of P?

(1) Rs. 3,000/- (2) Rs. 3,500/-

(3) Rs. 4,000/- (4) Rs. 4,500/-

P 3R Q i sitea @i A= 5050 94 &, Q ¥ R =i sit@a @ifesw s 6250 w94 @91 P o R i

ST TE A 5200 ¥ 2| P A oifi ar e g e

(1) 3.000/- =74 (2) 3,500/- =91

(3) 4,000/ %7 (4) 4,500/ 572

[Question ID = 3585][Question Description = Q24_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4. 4 [Option ID = 13806]

20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of
first term?

(1) 15 (2) 20

(3)25 (4) 30

4 GEATAT T FET 20 B 9T TESA WA W 3 GEAST o A7 F 1/ 3 F| TueAl G H AW AR ?

(1) 156 (2) 20
(3) 25 (4) 30

[Question ID = 3586][Question Description = Q25_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13807]
2. 2 [Option ID = 13808]
3. 3 [Option ID = 13809]
4. 4 [Option ID = 13810]

21 ; s : : ; ;
) According to Naiwvayikas we ascertain the relation of umiversal concomitance between x

and v :

(A) We can determine the relation only if we can determine the relation of essential
identity between x and y

(B) By perceiving that in all cases the presence of x 1s accompanied by the presence of ¥

(C) We can determine the relation only if we can determine the relation of cause and
effect between x and v

(D) By not perceiving any instance where the presence of x iz not accompanied by the
presence of ¥ or vice-versa

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (D) and (C) only
(3) (B) and (D) only
(4) (A). (B) and (C) only

FeAaFl % AR =9 x A0 y # AR G w Fee gty #d 2

(A)  x 3R y F o= FUNEE AIEE AT UHeREAl 1 G- GHEd BH W R 56 e B ad
|
(B) =i oftfeuta g x i mfeata % @y y 1 Sufeaia w9 w06 91 99 w1

— 3, - - e s e N - 1 r Fo e T



=H HE-d =Rl 41 HIHIREA = O9d & 99 75 x AN ¥ =6 |9 FwEH—HE0 HEEET HIFE=ED B o

(D)  x Fi sufeafa & wa y Fi sEaetE @y £ sofcafa F @y « Foagefata = 6 f e =

A9 T HH|
4 15U TTu faedl B W HE I 55 Hie

(1) ae (A) 30 (O)

(2)  a= (D) 3R (C)

(3) === (B) 51 (D)

(4) == (A). (B) #AT (C)
[Question ID = 3587][Question Description = Q26_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13811]
2. 2 [Option ID = 13812]

3. 3 [Option ID = 13813]
4. 4 [Option ID = 13814]

22) Match List I with List II ;

List I List IT
(A)  Vyapti (I)'  The property being inferred
(B) Linga (II) Locus of hetu and Sadhya
(C) Sadhva (IIT) Sign or reason
(D) Paksa (IV) Universal concomitance

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(III). (C)-(IT). (D)-(IV)
2 (A)-aD, (B)-AID. (C)-(I). (D)-IV)
(3)  (A)-AV). (B)-(ID). (C)-(T), (D)-I)
@  (A)-AID. (B)-1). (C)-AV). (D)-I)

FHt-1 & =19 gH-11 =1 faam i
el Exig!
(A) =t D TTEE F AT
(B) e (I) 29 =1 =0 1 T4
(C) =1 (III) Hehe HA9=1 FE0]
(D} w& (IV) =rEdtias emiea

=t fou 7o fomeai § @ W 3= w1 == i

(1) (A)-(T). (B)-(III). (C)-(II). (D)-(IV)
{(2) (A)-(ID), (B)-(IIT), (C)-(T). (D)-(IV)
(3) (A)-(IV). (B)-(I1I). (C)-(I). (D)-(II)
(4) (A)-(TIT). (B)-(I). (C)-(IV), (D)-(IT)
[Question ID = 3588][Question Description = Q27_GP_20NOV_S2_SHAAN_Shift2]

1. 1 [Option ID = 13815]
2. 2 [Option ID = 13816]



3. 3 [Option ID = 13817]
4. 4 [Option ID = 13818]

23) (Given below are two statements :
Statement I : According to Claszsical Indian Logic the fallacies (hetvabhaza) are not

errors of inference, but rather hindrances to inference.

Statement 1T : A fallacy 1s really a “seeming reason or mark” (hetvabhasa), which. if

recognized, would prevent the inferential cognition from arizsing.

In the light of the above statements. Choose the correct answer from the options given

below :

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are falzse.
(3) Statement I 1s true but Statement IT 1= false.

(4) Statement I 1s false but Statement II is true.

i 31 = fau w2

F9 (I) : YA g7 TS F STER oA A w1 A Al S0 SEde 2
o (ID) : ECITHTE TG STEE WA S9GT Hhd £ A W SAMESE 7 OA 9 S w5

= U F HEET =

IEIF FUF F AT H, A @00 FEmed § ¥ HE 39 @ 99 i

(1) =¥ (1) 31 (II) 31 &ea 7

(2) = (1) 30 (D) 21 e 7

(3) = () 5e7 2, wifwa % (1) 793 2
(4) A (1) s/me 2, Sifa F9E (1) 97 2

[Question ID = 3589][Question Description = Q28_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13819]
2 [Option ID = 13820]
3 [Option ID = 13821]
4 [Option ID = 13822]

AN wnN -

24) ‘‘All radically egalitarian societies are societies that do not preserve individual liberties’’.

Which of the following statements is true with reference to the above statement?

(1) ‘““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.

(2) ““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.

(3) ““Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.

(4) “‘Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent.

g weft HUAEE THTH UH WA 2 W SAte wEadeIal S Sed T8 a5l SAdiieigd Y 8 8w
I FYF ST % q5d H HA B 7

(1) = off goa. TuaEE T UE @A TR 2 S Fafe Sdea ® @iad a2l 2 weE
=1 47 Ulaatda @ & 1T a1 ®9 9 J9geT 7

(2) F% ff Ooiq: THAEE TS UE GUTS T8l 2 S S4iws Tadea S Sad e 2| 2 T s

P - e %



R Ar Algdidd |99 & AR dii=hsh 9 8 A89HGF &

(3) =% goa: THAEE] WA UH FE 8 S AR S Sad i 2| e T w5 g9g afaed
99 & S a1l =9 ° g9H 2|
et AT 2 N difEE =9 § gEde B

[Question ID = 3590][Question Description = Q29_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13823]
2. 2 [Option ID = 13824]
3. 3 [Option ID = 13825]
4. 4 [Option ID = 13826]

25) Two propositions are contradictories if :

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

21wl = 2 ot

(1) U, 38 1 fog wr & 91 T " 2

(2) ST, 2F Oed B BFA] £ S 2 FEeE TR 8 "

(3) oW IS w2y AR f9dg ug fim ¥, va o el ann o we 2

(4) 9P I 3239 SR fUm auH # 9 3 et 9T | 9 T 2wy o 9 et 2

[Question ID = 3591][Question Description = Q30_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13827]
2. 2 [Option ID = 13828]
3. 3 [Option ID = 13829]
4. 4 [Option ID = 13830]

26) What is the binary equivalent of the decimal number 67.625?
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101 (4) 1000011.101

ZUHEE WEAT 67.625 T TGAant THged 74 B 1

(1) 1000010 . 110 (2) 1000011.110
(3) 1000010 . 101 (4) 1000011.101

[Question ID = 3592][Question Description = Q31_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13831]
2.2

[Option ID = 13832]
3.3

[Option ID = 13833]
4. 4

[Option ID = 13834]

27) Identify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.

(A) RAM

(B) Optical Drive

(C) CPU Cache

(D) SSD

Choose the correct answer from the options given below :

(1) (B), (D), (A), (C) (2) (), (D), (A), (B)

(3) (A), (B), (C), (D) (4) (C), (A), (D), (B)

UFEY 2IEY 1 SIH § TEd 5T Gl o9 § HeH diY, W0 o 30 % 50 1w e 4 ¥ w@d wmy i eeE
Ead
(A) i

R

(B) A== 3154



(Cy g, W=
(D) THE.UEEL.
A fou o fpeul | © E 3 #1999 iU

(1) (B). (D). (A), (C)
(2)  (C). (D). (A). (B)
(3) (A). (B). (©). (D)
(4) (C). (A), (D), (B)

[Question ID = 3593][Question Description = Q32_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837]
4. 4 [Option ID = 13838]

28) Given below are two statements :

Statement | : The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’.

Statement Il : The abbreviation ‘SWAYAM’ stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

e[ (D) : TH. 1. AT =Y, T gaoE 2 - BHa e e s
F (1D : TH TS U AR U, W HAeW B - TS| 958 A% ViAo B 3 UHSE
AREH

IE FUF F T |, 49 2 T e § 9 mE I @ =9 i

(1) == (@) 3% (1) 3 73 7
(2) = (D) 31 (1) 3 =3aeT 2

(3) = (1) §ea &, witea = (1) s8en 2

(4) = (I) s@e 2, | w5 (1) we 2

[Question ID = 3594][Question Description = Q33_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13839]
2. 2 [Option ID = 13840]
3. 3 [Option ID = 13841]
4. 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B) On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

(1) (A), (B) and (C) (2) (A) and (C) only

(3) (B) and (C) only (4) (A) and (B) only

FfatEs 8 ® FH-FF 5 FUF T 91 H o =2, 9w gt w7
(A) TP FES 7% T5d
(B) #HA-w12 WIaH

(C) Topt 29 1 e fafwerda e



Fr= fou o fasedt @ w91 3w w1 9 FHifaw

(1) (A, (B) 3l (C)
(2)  =FEA (A) 37 (C)
(3)  =FAd (B) 3 (C)

(4)  FAE (A) 3 (B)

[Question ID = 3595][Question Description = Q34_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13843]
2. 2 [Option ID = 13844]
3. 3 [Option ID = 13845]
4. 4 [Option ID = 13846]

30) Match List | with List Il :

List I List Il

(Computer Terms) (Description)

(A) HTML (l) Semantic Web

(B) Web 2.0 (Il) Use of Internet to make phone calls

(C) Web 3.0 (lll) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)-(I, (B)-(1V), (C)-(1), (D)-(I1)  (2) (A)-(lI), (B)-(1), (C)-(IV), (D)-(II)
(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(lI)  (4) (A)-(IV), (B)-(llN), (C)-(1), (D)-(11)

Ft-1 % =y g1 =1 faes Hit

1 FHII

T TE T
(A) TEd . () wifes as
(B) 2.0 (I) &R Fed 7 5 foTu $9a01e F1 3
(C) =93.0 (1) 3% 95 1 599 % forw e 6i 78 s
(D) =ff.=m s (IV) st a9

Fr= fou o fasedt @ w91 3w w1 9 FHifaw

(L) (A)-ID. (B)-AV). (C)-(I). (D)D)
(2)  (A)-IID. (B)-(D). (C)-(IV). (D)-(II)
(3)  (A)-ID. (B)-IV), (C)-(D). (D)-(I1I)
(4 (A)-IV). (B)-(IID). (C)~(D). (D)-(ID)

[Question ID = 3596][Question Description = Q35_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13847]
2. 2 [Option ID = 13848]
3. 3 [Option ID = 13849]
4. 4 [Option ID = 13850]

31) Given below are two statements :

Statement | : Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

i 31 #o faw w E

Fe (I) : T TEAN W WAEHE UEE S H FEu-T & Su-"g JEes - WO

TS &



o (I0) : HHEE TR, -5 # f99 ° g 2l

IWF T FATAE °, = @3 M0 FEeT § | Wl 39 w1 99 e

(1) =3 (1) 31 (1) 3+ aeF &

(2) =y (1) F (1) 3T 379 &

(3) =9 (1) ucg 2, wifes w94 (ID) s1ge7 2

(4) = (1) FEcA 2, W w99 (1) Je7 7

[Question ID = 3597][Question Description = Q36_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13851]
2. 2 [Option ID = 13852]
3. 3 [Option ID = 13853]
4. 4 [Option ID = 13854]

32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

fr=ferfas 9 @ %= @1 39 30 i @z i amar I fGva & sew 9% 'n-ag-Sa-gwE T Hi
Tfshan A Heiw B 7

o

(1) A (2) 4ra
(3) e (4) TE-37=

[Question ID = 3598][Question Description = Q37_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]
3. 3 [Option ID = 13857]
4. 4 [Option ID = 13858]

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (SDGs).
Reason (R) : Many of the SDGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

4= 2wy 2T U 2 ;. uF #iHFud (Assertion A) % ®9 H fetEd & df EHTFMW (Reason R) &

TTHF (A) Hymit T we (|25 ) i min 27 v T e )

F (R) : FE TH.SLH. waEEg B

SR FUA F AT 9, A B T fawen § 9 meE Suge I 6 59 Fiia

(1) (A 3 (R) gH1 @@t # 317 (R). (A) FF wdt =mean 2

(2)  (A) 3 (R) A WE E, ST (R), (A) FT HE = 965

(3) (A= B, < (R) @8 781 &

@) (ATATE R, A ®) TR

[Question ID = 3599][Question Description = Q38_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13859]
2.2



[Option ID = 13860]
3.3

[Option ID = 13861]
4. 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly
degraded environment.

Reason (R) : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

o

Hr %1 e oy e # : uw afiEes (Assertion A) % ¥ # foifma @ gm0 <mF FEW (Reason R) F

=Y
AR (A) : THTA 3R TFE F T F TEERE SR AEgay meeaas-aa S 6
x (& (s [ %
EE AT H 9EAlad =/ 1347 & |
F (R): AT F AAE H 7 T I Ee siEae 2

SYIE HAA S H, A6 150 T el 3§ WA S =hA i

(1) (A R (R) A T4 % 3R (R). (A) F 78 =men 2

(2)  (A) 3R (R) TH =9 E, S (R). (A) B wE = T# 2

(3) (AT 7, @A (R) 7 o950 2

@ (A) == TE 2, R (R) T E

[Question ID = 3600][Question Description = Q39_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13863]
2.2

[Option ID = 13864]
3.3

[Option ID = 13865]
4. 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) - 57% (2) -~ 42%
(3)~37% (4) ~ 28%

(1) ~ 5T7% (2) ~42%
(3) ~ 37% 4 ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13867]
2 [Option ID = 13868]
3 [Option ID = 13869]
4 [Option ID = 13870]

A W N -



36) Which of the following is most effectively promoted by Globalisation among the societies?
(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness

frefefas & F15 W1 959 297 9 § T948 BY § Iy 7g w@atda R o T 2

(1)  ©Fa AT g7 (2) F HEFOF qo
(3) & (4) wTEE-FHEA

[Question ID = 3602][Question Description = Q41_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13871]
2 [Option ID = 13872]
3 [Option ID = 13873]
4 [Option ID = 13874]

A w N =

37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System
(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors

ot = =t vm, = adeE B -

(1)  =aTeE ST g2 iy (2)  ==TEE §EE wiss ey
(3)  HeZel 9IS HTE HiSS ThiE (4) wHise 9IS HE Uegel TI-HH

[Question ID = 3603][Question Description = Q42_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13875]
2 [Option ID = 13876]
3 [Option ID = 13877]
4 [Option ID = 13878]

A w N =

38) COVID-19 acronym stands for
(1) Corona Virus Disease 2019
(2) Corona Virus Disease strain 19
(3) Corona Virus Disaster 2019

(4) Corona Virus Disease 2020

FifaTE-19 =1 gaee 2 -

(1) =T arstE Sie 317 2019

(2) AT AT e 21 19

(3) FHAET aT7H {5t 317 2019

(4)  =AET aEEE fediE @ 2020
[Question ID = 3604][Question Description = Q43_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13879]
2.2

[Option ID = 13880]
3.3

[Option ID = 13881]
4. 4

[Option ID = 13882]

39) NITI Aayog is
(1) National Institution for Transforming India (2) National Institute of Technology Integration
(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation

Fifa (NITL) =340 =1 Ao 2 -

(1) v s=ege Bz sfea



(2 A SI2EE ST SHlET ] SAUEH
bl

(3)  79FH TEfHE ATF SR S

(4) A9 SEfEgE AT ZEEEIE & S

[Question ID = 3605][Question Description = Q44_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13883]
2. 2 [Option ID = 13884]
3. 3 [Option ID = 13885]
4. 4 [Option ID = 13886]

40) Match List | with List Il :

List I Listll

(Days Celebrated) (When)

(A) Earth Day (l) 24 January

(B) UNO Day (Il) 5th June

(C) Environment Day (lll) 24th October

(D) International Day of Education (V) 22nd April

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(ll1), (C)-(I1), (D)-(IV)  (2) (A)-(IV), (B)-(lll), (C)-(1), (D)-(Il)
(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(lI1)  (4) (A)-(IV), (B)-(ll1), (C)-(I1), (D)-(1)

FHt-1 % =19 g=-11 =1 faem =it
THlI FH-11
fmm feret
(A) 9ei-Team O 24 ==
(B) |3 Ty wY fEaw In s
(C) "EERT-faag (IIT) 24 AR
(D) =g forem foam (IV) 22 =18

Frt fou 7o fomei § © wE 3 1 =99 it

1) (A-D. (B)-AID. (C)-(I). (D)-(IV)
@) (A)-IV). B)-(III), (C)-(I). D)-1D)
@) (A)-AD. B)-AV). (O)-I). (D)-IID
@) (A)-IV). B)-(IID). (C)-(1D). (D)-(I)

[Question ID = 3606][Question Description = Q45_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13887]
2. 2 [Option ID = 13888]
3. 3 [Option ID = 13889]
4. 4 [Option ID = 13890]

Topic:- 31Linguistics_A

1) Unlike bees and birds, the human beings can moniter what they transmit in their speech. This property is referred as
(1) Displacement (2) Discreteness

3) Feedback (4) Specialization

AR e aferei & fira srgea 1o T 3 g fore 7 Sy ot el <6 w81 38 e 0 e |

@ T @ fafama
(3) FrEa=w @) dfire

[Question ID = 5742][Question Description = Q01_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22416]
2.2



[Option ID = 22417]
3.3

[Option ID = 22418]
4. 4

[Option ID = 22419]

2) sounds are made with an oral tract constriction which is less than that required to produce friction.
1) Consonantal (2) Approximant
3) Sanorant (4)  Strident

T3 i 09 WA B I o S 2 S o Seva e 8 stuiad gereE 8 8 Ee 2

(1)  =TsHIE (2 safim
(3)  |9M™ (4

[Question ID = 5743][Question Description = Q02_Linguistics_ SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22420]
2.2

[Option ID = 22421]
3.3

[Option ID = 22422]
4. 4

[Option ID = 22423]

3) Which of the following sets of distinctive features cannot distinguish between the four major classes of speech sounds,
i.e., consonants, vowels, liquids and glides?

(1) + Vocalic and x Consonantal (2) + Vocalic and # Syllabic

3) + Syllabic and + Approximant (4) + Continuant and + Obstruent
frfafiaa 4 @ =13 w1 fafere sfyaem age ae-ad £ ar aga A, =066, @l @ @1 1R ey d
A & L HFAT

(1) +ar 3 + S TeaS (2) TR FHR + i
(3) + amerfesh 3R + safamd (4) +UETE I + 3T

[Question ID = 5744][Question Description = Q03_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22424]
2.2

[Option ID = 22425]
3.3

[Option ID = 22426]
4. 4

[Option ID = 22427]

4) ‘Pitch’ of a sound is

(1) auditory property of the sound which enables a listener to place it on a scale of high to
low
(2) auditory property of the sound which enables a listener to infer a sound on a scale of loudness
3) measured in terms of ‘frequency’, number of cycles per second as an exact correlate of pitch in ‘mels’
(4) a feature that can be studied on the waveform
fepeft e o1 waprETa 2

(1) T3 %1 JavIens 701 S R 2fia =1 39 AFoened] el T 30 4 1= 1 377 w4 0 aqad s 2 )
(2) T & AT 01 S foRd AT o el w1 gk a1 o S 30etlad #a ° | e )

(3)  3H el & |di% HedE & &9 4 ufd Fehe i il e sdia wgfa’ % ged 4 wfmfa B s
Sy



o

(@) vk e seea a s W e a2

[Question ID = 5745][Question Description = Q04_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22428]
2.2

[Option ID = 22429]
3.3

[Option ID = 22430]
4. 4

[Option ID = 22431]

5) Spectrum of a sound is closer to the auditory reality because it gives a visual representation of the constituent
frequencies in terms of their

(1) waveforms

2) frequencies and intensities on X axis and Y axis

3) frequency, intensity and time

(4) frequencies and time on X and Y axis
el T =1 Tag0 JavITeeh JRafdsRd] 1 JHadi aidl @ F0 98 39— % Hadd ° "2
st = gfvas gfaeom g2 w2y
(1)  amEg

(2) X381 3 Y 3 W A ud i
(3) M, diadn 3R e
(4) X 3R Y 3131 W sataai s #re
[Question ID = 5746][Question Description = Q05_Linguistics_SHAAN_20NOV_S1_Shift2]

1.1

[Option ID = 22432]
2.2

[Option ID = 22433]
3.3

[Option ID = 22434]
4. 4

[Option ID = 22435]

6)

Once an inflectional affix is added to a form of word;

(1) The word can further be derived

(2) It becomes easy to recognize the root word

3) No further derivation of that word is possible
(4) It finalizes the concatenation process of the word

forefl wree o w9 4 v faafts wega sire st 2, a9
(1) 9153 =l 3 o0 foRa1 oI |ehell 21
(2) Yol 9183 & TRAHAT SIE 8@ S 2
(3)  ¥Iea o1 ST SeTd A1 H9d T 2
(4)  F= IIeE & HANH 9fFAT T FE 2
[Question ID = 5747][Question Description = Q06_Linguistics_SHAAN_20NOV_S1_Shift2]

1.1

[Option ID = 22436]
2.2

[Option ID = 22437]
3.3



[Option ID = 22438]
4. 4

[Option ID = 22439]

7) In an explicator compound verb construction the V4 (from the sequence of V¢ + V) is known as
(1) Grammaticalized verb (2) Vector verb

3) Polar verb (4) Light verb

Terel ferarran Bigeh o o |1 3 Vi (Vi + Vi 30 d 3) ol &1 Fad 87

(1) =i fEa (2) afem fEn

(3)  gdmE (4) = fen
[Question ID = 5748][Question Description = Q07_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22440]
2.2

[Option ID = 22441]
3.3

[Option ID = 22442]
4. 4

[Option ID = 22443]

8) The word ‘deadline’ is an example of a compound noun in English which is classified as
(1) Exocentric compound (2) Endocentric compound

3) Copulative compound (4) Right headed endocentric

SIS H SEenea’ 41T | o FaTe ¢ o Ftctiea | A form s o arfiga s |e 2

(1)  =Esife o (2) o4 F=FHuTH
(3)  EzH9M (4) w2 Z2E 3a: FiEe

[Question ID = 5749][Question Description = Q08_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22444]
2.2

[Option ID = 22445]
3.3

[Option ID = 22446]
4. 4

[Option ID = 22447]

9) The forms such as UNESCO, NATO, AIIMS and ISRO are examples of
(1) Blending (2) Acronyms
3) Abbreviation (4) Clippings

qfEar], 12, R SR 3E S uE fe 1 farees garem 87
(1 fam (2) feafiwres
(3)  Haw 4) A
[Question ID = 5750][Question Description = Q09_Linguistics_SHAAN_20NOV_S1_Shift2]

1.1

[Option ID = 22448]
2.2

[Option ID = 22449]
3.3

[Option ID = 22450]
4. 4

[Option ID = 22451]

10) A morph which does not get realized as a morpheme is known as



(1) Portmanteau morph (2) Zero morph

3) Empty morph (4) Allomorph
a7 ¥ ol B4 4 @ A2 S 2 36 R A E SE S 87
(1)  uidhe =y (2) I EY
(3) Trw®Ey (4) 3IUEY

[Question ID = 5751][Question Description = Q10_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22452]
2.2

[Option ID = 22453]
3.3

[Option ID = 22454]
4. 4

[Option ID = 22455]

11) The term ‘concatenation’ in morphology refers to
(A) The Reduplication of morphemes in the words

(B) The circumfixation of morphemes in the word

©) Numbers of inflections and derivations in the word
(D) Linking morphemes together in the word

(E) Separating the morphemes in the word

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

3) (A) and (C) only

(4) (C), (D) and (E) only

wqfasma § waeH staaron fHE gefdd s 27

(A) e | widi o e

(B) e 4 =iy = ufdfafqeio

(C)  wee W fauferal sin sgerfaai 1 wen
(D) 18 H H(0Hi Fl 3776 H ST

(E)  ¥reg 4 &g sl el ]

1 T o fasredi 4 & Bl 3w %1 == Fifa
(1)  *ad (A) 37 (B)
(2) A (B) 3 (O)
(3)  Fad (A) 3 (O)
@  F4d (C). (D) 3 (B)
[Question ID = 5752][Question Description = Q11_Linguistics_SHAAN_20NOV_S1_Shift2]

1.1

[Option ID = 22456]
2.2

[Option ID = 22457]
3.3

[Option ID = 22458]
4. 4

[Option ID = 22459]



12) The pro-drop parameter determines whether

(1) Subject of a clause can be suppressed

(2) Direct object of a clause can be suppressed

3) Indirect object of a clause can be suppressed

(4) The dependent clause can be suppressed
SAFEdem ITeed 7z fuaifa % 2

(1) 39974 % dl =1 1) TEn = g2

(2)  F99TH F IR 10 TE A TRl 2

(3)  ITATHE e FH | {01 T S HFA 2

(4) 1A v 0 TE S g 2

[Question ID = 5753][Question Description = Q12_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22460]
2.2

[Option ID = 22461]
3.3

[Option ID = 22462]
4. 4

[Option ID = 22463]
13) From the perspective of grammatical analysis as part of a two-way classification of syntactic construction using
distributional criteria, which of the following is endocentric
1) the boy ate a mango
(2) the fierce yellow giant kicked the dwarf
3) on the cake
(4) the big house

faaoTTens WSl % WM o EF GEETEE T o (EHET i o T o w9 H SR giE |

fferiaa 49 i@ —a1 stz 2

(1) Esamuzu i (2 = fird 3 s e 2 2w

(3) ST FS (@ = fm e
[Question ID = 5754][Question Description = Q13_Linguistics_SHAAN_20NOV_S1_Shift2]

1.1

[Option ID = 22464]
2.2

[Option ID = 22465]
3.3

[Option ID = 22466]
4. 4

[Option ID = 22467]

14) Which of the following is a functional phrase?
(1) IP (2) NP
(3) VP (4) PP

frrfefiga o @ %9 —a1 TFETes g 27
(1 sEd (2) @ g (v )
3 fFmuz (Fd) (4) i

[Question ID = 5755][Question Description = Q14_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22468]



2.2

[Option ID = 22469]
3.3

[Option ID = 22470]
4. 4

[Option ID = 22471]

15) In generative grammar, ‘The assumption that the car was not working’ is a/an
(1) Sentence (2) Verb phase

3) Complex noun phrase (4) Prepositional phrase

o SR 1 T stfuesReA 6 g Fr A Ae atdn’ 2
(1) a=A (2) Twaiug

(3 wfgEm (4) "S5

[Question ID = 5756][Question Description = Q15_Linguistics_ SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22472]
2.2

[Option ID = 22473]
3.3

[Option ID = 22474]
4. 4

[Option ID = 22475]

16) Grammatically plural nouns that have no corresponding singular form, such as scissors, glasses are known as
1) Polar antonyms (2) Plesionymy

3) Pluralia tantum (4) Polarity

s 1 2fe H o agaea S & gued vhaEs A8 @ 2, S FEA, e genfe, 39 Fefafaa 09
F1 i 27
(1) g =Em (2) A

(3)  eitferan dem (4) gdE

[Question ID = 5757][Question Description = Q16_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22476]
2.2

[Option ID = 22477]
3.3

[Option ID = 22478]
4. 4

[Option ID = 22479]

17) An expression that refers to something that people hesitate to mention lest it cause offence, but which lessens the
offensiveness by referring indirectly in some way, is known as,

(1) Equipollent antonyms (2) Equipollent opposition

3) Euphemism (4) Dysphemism

ek Ui sl S 3ask v 2l 2 foen 3@ o gr A s 9 Fad R s g0 g o s 2 e
% W U 341 ST Hay gueh] STaldsiahed 1 49 Fdl 2, Feelldl ¢

(1)  wodferd T (2) TAletd g
(3) fumif @) zdif®

5

[Question ID = 5758][Question Description = Q17_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22480]
2.2



[Option ID = 22481]
3.3

[Option ID = 22482]
4. 4

[Option ID = 22483]

18) A “Proposing” is a type of sentence in which lexically governed or subcategorized phrasal constituents appear to the
(1) Right of its canonical position (2) Above its canonical position

3) Left of its canonical position (4) Below its canonical position

(1) 3o fafza 2 = gz (2) 35 fafea wam & 3w
(3)  zu fafza v s e (4) =9 fafed am & =

[Question ID = 5759][Question Description = Q18_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22484]
2.2

[Option ID = 22485]
3.3

[Option ID = 22486]
4. 4

[Option ID = 22487]

19) law covers three interrelated changes in the series of stops from
Proto-Indo-European to Proto-Germanic : Voiceless stops > Voiceless fricatives,Voiced stops > Voiceless stops, voiced
aspirated stops > Plain voiced stops.

(1) Neogrammarian (2) Grimm’s

3) Verner’s (4) Grassmann’s

g 0 i -2 - -4 W@ St d vl ) aen | i stadaioa gfeds i 2d 2
: STEITY E99] > S A, HEY 9] > sy D9l G G 2y > HY gE o)

(1) 9 Jareior (2) fiem
(3 = (4) TrERH
[Question ID = 5760][Question Description = Q19_Linguistics_SHAAN_20NOV_S1_Shift2]

1.1

[Option ID = 22488]
2.2

[Option ID = 22489]
3.3

[Option ID = 22490]
4. 4

[Option ID = 22491]

20) The assumption of is extremely valuable to the application of the comparative method.
(1) social motivation (2) suddenness
3) regularity (4) diffusion

ol HeheaA1 qetTeds YTTel = S o fou sed geaarE 2:
(1) =mfsE st (2) ST
(3)  Tfuam (4) wE

[Question ID = 5761][Question Description = Q20_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22492]
2.2



[Option ID = 22493]
3.3

[Option ID = 22494]
4. 4

[Option ID = 22495]

21) The English word ‘meat’ that meant ‘food’ in general earlier, refers to ‘food of flesh’ now, and it is an example of a
semantic change called

(1) widening (2) narrowing

3) metaphor (4) metonymy

SATsh %1 yree ‘wie’ fomrar A1 vee AT B w0 S o1, S99 B i W 1 wed o 2, 98 s
giadH o U e E ol ——— e S 2

@ 3 faran @) =4 GHEA

(3)  ®YH (4) ITEEm

[Question ID = 5762][Question Description = Q21_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22496]
2.2

[Option ID = 22497]
3.3

[Option ID = 22498]
4. 4

[Option ID = 22499]

22) In some English dialects, the change of the word chimney to chimley is an example of

(1) metathesis (2) coalescence

3) assimilation (4) dissimilation
S{irsfi 1 @ @iferdi § Chimney 9162 %1 Chimley H 9fadd —— o1 3501 2|
(1) o (2 4fa
(3) @A (4) femdrarmn

[Question ID = 5763][Question Description = Q22_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22500]
2.2

[Option ID = 22501]
3.3

[Option ID = 22502]
4. 4

[Option ID = 22503]

23) In sociolinguistics a group of instutionalized social situations typically constrained by a common set of behavioural rules
is called

(1) Domain (2) Compound
3) Identity (4) Contact
FUTAATIAHA H SAaamTd e & @ 9= 5 Gl 9 9 ofes qvaw amiss affeafia w1 ag

FA FEA &7

(1) & (2A) (2) womde
(3)  sifeHa @) |7

[Question ID = 5764][Question Description = Q23_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22504]



2.2

[Option ID = 22505]
3.3

[Option ID = 22506]
4. 4

[Option ID = 22507]

24) Accomodation theory in sociolinguistics aims at

(1) explaining why people modify their style of speaking to become more like or less like their
addressee
(2) explaining why people accomodate other people of higher social status
3) explaining the syntax of code-mixed grammar
(4) explaining the features of middle and lower middle class language
FUTSTYTR H FoeH i a1 32w #0 2

(1) == wg ol @ o & weifia safes & sifoss 91 9w 8. % few sA sed f 9efl 60 w0 aeed
(2) e a8 e & Toh ot swre wnarfores feufa et s i o1 w0 qafestd w1 2
(3)  He-Tuba sae & ars fa=ns =) ere # 2

(4) " 3 s germ e e i ar B s e w2
[Question ID = 5765][Question Description = Q24_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22508]
2.2

[Option ID = 22509]
3.3

[Option ID = 22510]
4. 4

[Option ID = 22511]

25) Which of the following is not true for ELAN?
(1) It is a part of EXMARaLDA

(2) ELAN allows researchers to time align transcrist and recordings

3) It allows a researcher to make numerous dependent and independent annotations on any word,
utterance

(4) It allows different speakers to be transcribed on different tiers, and several coding tiers can be added

foeiferfiaa # @ @1 3 Uet U w7 (ELAN) & fore s = 27

(1) F23UagUAT N U U 21 0 (EXMAaLDA )& feemn 2
(2)  (ELAN) wienfsii = foraa sivn fonrd = guamag 50 201 2
(3)  zuu vienedi forfi wise, sfer sl wowd snfae siv wads sawen A 2

(4) g fafie v fafis s o foegs 7 ged 2 3 2 %2 T oie o a%d 2

[Question ID = 5766][Question Description = Q25_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22512]
2.2

[Option ID = 22513]
3.3

[Option ID = 22514]
4. 4

[Option ID = 22515]

26) Chambers and Trudgill (1998) introduced the term NORM to describe the typical informant of traditional dialect



research, which meant

(1) Normal speaker, different from speakers whose speech is affected
(2) Normal ordinary Rustic Men

3) Non-Native Ordinary Resident or Motivator

(4) Non-mobile older Rural Males

e 371 2 (1998) 3 WA siel wE % fAfe gee 1 avik # F oo NORM 152 il 35371 i
v sfam o

(1) A a1, 39 9 8 i foef arg gafEa 2
(@) e sifd e i (A aram e st
(3)  AM A e e i difeaer

(4) M HEEA et Wl Hed

[Question ID = 5767][Question Description = Q26_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22516]
2.2

[Option ID = 22517]
3.3

[Option ID = 22518]
4. 4

[Option ID = 22519]

27) A grammatical pattern in which the subject of an intransitive clause is treated in the same way as the direct object of
a transitive clause, and differently from transitive subject is known as

(1) Transitivity (2)  Accusitivity

3) Causativity (4) Ergativity

Tor seeiorer Yed O Tl syamdsr 3uare o sl &1 91 ol v 3uame o gied o4 o |19 3iF g
Fefl @ i =9 1 fofn I 2, I Fed 2

(1)  HeHHEAT (2) =FFE
(3) oM (4)

e

[Question ID = 5768][Question Description = Q27_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22520]
2.2

[Option ID = 22521]
3.3

[Option ID = 22522]
4. 4

[Option ID = 22523]

28) A non-finite verb form which mainly masks the adverbial subordination in most South Asian languages is known as
1) Past participle (2) Present participle

3) Conjunctive participle (4) Future participle
form srawriuan T | sifvreran afem e wmisi | gegd: Grafamofia snga a2, 39 #7d &
(1)  gdHTicTs Fad fagmm (2) AdAHFTICTF Fad 9o
(3)  HATSF Faa faerm (4) afasgaTicts Fad faamm

[Question ID = 5769][Question Description = Q28_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1



[Option ID = 22524]
2.2

[Option ID = 22525]
3.3

[Option ID = 22526]
4. 4

[Option ID = 22527]

29) In most Dardic languages including Kashmiri the voiced aspirates
(1) have preserved aspiration (2) have lost aspiration

3) have reduced aspiration (4) have extra aspiration

F 9T afed sfimrar st O wary garamn §

(1) afaier gemafira 2 2 (2) o eTTTn e &
(3)  egEd neErmifor i (4) st wamfor i 2

[Question ID = 5770][Question Description = Q29_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22528]
2.2

[Option ID = 22529]
3.3

[Option ID = 22530]
4. 4

[Option ID = 22531]

30) In Hindi, Urdu a compound verb is formed by putting
(1) A polar and a vector verb together (2) A vector and a polar together

3) A vector and a vector together (4) A polar and a polar together

Tt~ 4 wigeh fopen o ol 2
(1)  gam s afEy A o (2) dfem 3R g =i w9 d
(3) i 37T wfay i w1 e (4) ydig 37 gdm™ w1 wy o

[Question ID = 5771][Question Description = Q30_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22532]
2.2

[Option ID = 22533]
3.3

[Option ID = 22534]
4. 4

[Option ID = 22535]
31) Just as spoken languages use phonemic features to produce meaningful words, sign languages use manual features as
phonemic features. They are
1) The handshape used to make the sign
(2) The location of the sign in space and orientation of the palms of the hands
3) The type of movement made by the hands
(4) All of the above

I sterarel ) e e vegl o 3w o o wafafas sifasremn s oam Fvd €, S 99 6 gehd v
g fasmensi = wam @iy sfyeeon & sy e 214 2 -

(1)  ¥eka a9 o foTu 219 % ATRTE 21 917

(2) M U Hekd o) staferfd aiw sefor ) 3agEan

(3) =11 g fehu U HeEe o R



(4) 3w ol

[Question ID = 5772][Question Description = Q31_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22536]
2.2

[Option ID = 22537]
3.3

[Option ID = 22538]
4. 4

[Option ID = 22539]

32) If in a study, the points of difference between two languages are identified and then these are emphasised as potential
areas of difficulty in learning those languages, it is called

1) Discourse Analysis (2) Error Analysis

3) Contrastive Analysis (4) Language Analysis

Afe ol semma 4 <1 Al 4 S & Figal #1 sfufaifa w3 arns i de § e Tl w5t

auIfad & =98 A e, s ———— wEd 2|
(1) it fgemm (2) Ff favemm
(3)  =ufal farvemor ) A gy

[Question ID = 5773][Question Description = Q32_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22540]
2.2

[Option ID = 22541]
3.3

[Option ID = 22542]
4. 4

[Option ID = 22543]

33) Most scholars hold the view that :

1) first and second languages are learnt in the same way

(2) first and second language are learnt in entirely different way

3) there are some differences between first and second language learning
(4) first and second language are learnt simultaneously

HAfeeher fagrl =1 gfoeem 2 T

(1) o 3t fefr amnd ves & wehr 3 i i 41
(2)  wum 3 e amnd ghen fo ween @ w2
(3) e i T am HEd § F59 S E 2

(4 oM 3 T wmnd ves & wvy s 2 )

[Question ID = 5774][Question Description = Q33_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22544]
2.2

[Option ID = 22545]
3.3

[Option ID = 22546]
4. 4

[Option ID = 22547]

34) If language is considered as only what is observable and measurable, it is the view of
1) Mentalism (2) Behaviourism
3) Nativism (4) Cognitivism
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[Question ID = 5775][Question Description = Q34_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22548]
2.2

[Option ID = 22549]
3.3

[Option ID = 22550]
4. 4

[Option ID = 22551]
35) In its original intention, the test requires the construction of an artificial cognitive agent with a language
behaviour so natural that it cannot be distinguished from that of a human.

(1) Zipf (2) Diagnostic Rhyme
3) Turing (4) AB
e 1 Gl 327 A1 AR & A9 FHH AAAIES ATHd ] UH FAriias 1 2

To 28 a1 SFEEE H qUE AE R S 5

(1 s @) FerTE gEad

(3)  =Afim @ ud
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1.1

[Option ID = 22552]
2.2

[Option ID = 22553]
3.3

[Option ID = 22554]
4. 4

[Option ID = 22555]

36) In order to avoid unnecessary “word material” headlines are known to have a tendency for
(1) Zeugma (2) Semantic anomaly

3) Syllepsis (4) Telegraphic style

HAEYIS % A’ § s=H & fofu Fearsa & @ ughd w2

(1)  =gm (2 34 waHfi gm
(3) 3wET=EE (4) Zefiurs stefi
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[Option ID = 22557]
3.3

[Option ID = 22558]
4. 4

[Option ID = 22559]

37) Read the following statement carefully and choose the most appropriate answer that refers to the phatic function :

(A) A person goes to a Municipality Office for getting permission to construct a cow-shed, meets the officer in-charge
and says, “Good Morning Sir!”

(B) A person goes to a Municipality Office and work the security guard as to whom he should meet for getting
permission to construct a cow-shed

©) A person goes to a Municipality Office, gets permission to construct a cow-shed and says to the officer, “Thank you
very much Sir!”

(D) A person goes to a Municipality Office for getting permission to construct a cow-shed, and asks an employee of that



office, “who is the officer | should meet for constructing a cow-shed”?

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

(A) only

(A), (B) only
(A), (B), (C) only
(A), (B), (C), (D) only

Feferiaa wuai %1 earmyE® ue s Haifos 30 3o Fl 94 S qursEsiaTes 1§ 94 4 9w g

27
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(B)

(©)

D)
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e, i Affren -Fuin i siqufa eF & foo Frmforsr wries st a8 & vk wiar 8 g 2,
“sitwren —fuior fafor % fero g3t fopm siferrd 4 faern =nfeu?’
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[Option ID = 22561]
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[Option ID = 22562]

4. 4

[Option ID = 22563]

38)

The forms such as cut-cut-cut or put-put-put for V; - V; — V; examplify

(A) Meaning but no form

(B) No form. no meaning

(C) Form and meaning both

(D) Form but no meaning

Choose the most appropriate answer from the options given below :

(1
(2)
(3)
(4)

(D) Only
(A) and (B) Only
(B). (C) Only

(A) Only

V, — Vo -V, % felu she -z -z siega (e -2 -1 ©v forwaer 3amem 2 -
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4. 4

[Option ID = 22567]

39) In Inflectional and Derivational morphology
(A) ‘- er’ in ‘worker’ is a derivational suffix
(B) ‘- s’ in ‘this machine works well’ is an inflectional suffix
©) ‘- s’ in ‘teachers’ ‘transit house’ is a derivational suffix
(D) ‘- ing’ in ‘this is a working lunch’ is a derivational suffix
Choose the most appropriate answer from the options given below :
(1) (A) and (D) Only
(2) (B) and (D) Only
(3) (A), (B) and (D) Only
(4) (B) and (C) Only

faferorar iR sgerfagers safamm 1,

(&) T Y {uR U Feragers T9a 2

@B) ‘fwusfaadyaa’ § v v faufewes v )
(©)  ‘Frend zifae wreE’ 1 uw v seatagers werd 2

(D) ‘fmsavafdnes’ 4 9 vs saerfogels 9o 2

i fau e fasiedi § | wars 3996 30 31 =19 shiforu;
(1)  %ad (&) 31 (D)

g o T T T Sy
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[Question ID = 5780][Question Description = Q39_Linguistics_SHAAN_20NOV_S1_Shift2]
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4. 4

[Option ID = 22571]

40) Which of the following is an adjunct in the string ‘the book of poems with the red cover’?
(A) the book
(B) of poems
©) the book of poems
(D) with the red cover
Choose the most appropriate answer from the options given below :
(1) (A) and (B) Only
(2) (B) and (C) Only
(3) (B) Only
(4) (D) Only

Fopeaferfiaa 3 4 =6 o ‘5 o 3i diog fag g e e e § sgea 2

(A) =TgF
(B)  TE duey
(C) 2 1% ey

D) FfrRzEFn

11 fou o faeredi 0§ |a9 37 30 1 =921 it
(1)  de (A) = (B)

(2) e (B) 3 (C)

(3)  F9d (B)

(4  F9d D)
[Question ID = 5781][Question Description = Q40_Linguistics_SHAAN_20NOV_S1_Shift2]
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[Option ID = 22573]
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[Option ID = 22574]
4. 4

[Option ID = 22575]



41) If X governs Y, then
(A) X m-commands Y

(B) Y m-commands X

(€) No barrier intervenes between X and Y
(D) Barriers need to be present between X and Y
(E) The maximal projection doxminating X, dominates Y as well

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (A), (C) and (E) Only

(4) (B), (D) and (E) Only

afe X, Y &I f4afa & 2, 9

(A) X, Y F UH-FHHAS FA

(B) Y. X UH-FHHTS Al 2

(C) 0§ 3119 X 310 Y 1 =i 44l a1dl &

(D) X 3R Y % e sy &1 3ufed T a2

(E) X W 2l T4 arel 3=3an e Y 7 ofl 2l v 2

=t fao o fasredi 0 | Herd 30 IR 1 = i
(1)  Had (A) 3 (B)

(2)  Fad (B) 3 (C)

(3) & (A), (C) 3 (B)

(4 FAd (B). (D) 3 (E)
[Question ID = 5782][Question Description = Q41_Linguistics_SHAAN_20NOV_S1_Shift2]
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4. 4

[Option ID = 22579]

42) Which of the following is true for procrastinate?

(A) All movements should occur as soon as possible

(B) An operation should take place only when it is needed and not before

(€) It prefers derivations which prefer movements until after spell-out

(D) Post ponement of movement until after spell-out is preferred so that the results of the movement do not affect PF

Choose the correct answer from the options given below :
M (A) Only

(2) (A), (B) and (C) Only

3) (B), (C) and (D) Only

(4) (A) and (D) Only
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1.1

[Option ID = 22580]
2.2

[Option ID = 22581]
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4. 4

[Option ID = 22583]

43) Which one of the following is TRUE?

(A) “Person deixis” involves the speaker known as the first person, the addressee, and other significant
participants

(B) Spatial deixis manifests itself in the form of locative adverbs, and demonstratives
(©) Temporal deixis functions to locate points or intervals on the time axis

(D) Social deixis is exemplified by certain uses of pronouns

Choose the most appropriate answer from the options given below :

(1) (A) and (B) Only

(2) (A), (B) and (C) Only

(3) (B), (C) and (D) Only

(4) (A), (B), (C), (D)

fFerfeafia 0 4 =i wd 27

@A) ey feafa-fge 4 om gy 2 o, Hare s 9= geea] gaaef afsfd g 2

(B)  afiren feorfa - siferson franfesiom siv fasfe & w9 0 gare @ 21

(©)  wmfaes feafa—fadm =1 % waa % e v g sin s 6 feafa Fuifa #w @ 2)

(D) \rTee fefa - o FaTen & B9 H TEATH % £ T80 AT 2
= v o fasredi | 4 i 37y 3 =54 Fife;
(1) %= (A) 3 (B)

(2)  FaEd (A), (B) 31 (C)



(3)  %dd (B). (C) 31 (D)

(4)  %ad (A), (B). (C) ¥ (D)
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4. 4

[Option ID = 22587]

44) Which of the following is correct?
(A) Locutionary Acts were explained by Austin
(B) Perlocution acts are performed by means of body language
(©) lllocutionary acts are not internal to locutionary act
(D) The illocutionary acts can not be performed via different locutionary act
Choose the most appropriate answer from the options given below :
M (A) Only
(2) (B) and (A) Only
3) (C) and (D) Only
(4) (B) and (D) Only

Feforfiaa 48 R v 27

(A) S S 9= sy ) swen
(B)  warE F=Ed v g 3 e | fefa g R
(C)  a=-a & a=H aTIr & syvardf 98 2

(D)  a= = fafay a=m s F wew | Feafea a8 e s ad

et fau aru fospedi 4 4 el 39T IR 1 =2 i
() e ()

(2 #Fd (B) #H(A)

(3)  @ad (C) 3 (D)

(4)  *dad (B) 3 (D)
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4. 4

[Option ID = 22591]

45) The German word ‘Stammbaum’ refers to which of the following one or ones?



(A) Linguistic area and language contact

(B) Family tree and language diversification

©) Dialect geography and wave theory

(D) Isoglosses and focal area

Choose the most appropriate answer from the options given below :
M (A), (C) Only

(2) (B) Only

(3) (B) and (C) Only

(4) (A) and (D) Only

4 9152 ‘Stammbaum’ Feafefias 4 9 feoy [ fFm gafaa 27

(A) it e SR s e
(B)  iuedi @1 siv 9 fafafero
(C) el wpire 37w & /& fagra

(D)  HusTy e 3 s e

e fau o fereai | 4 wed 39 3 1 =99 Hife;
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(4)  ad (A) 30 (D)
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[Option ID = 22595]

46) Out of the following which two are the first two steps in the application of the compartive method?
(A) Assemble cognates

(B) Determine the status of similar correspondences

©) Establish sound correspondences

(D) Reconstruct the proto-sounds

Choose the most appropriate answer from the options given below :

(1) (A) and (B) Only

(2) (A) and (C) Only

3) (A) and (D) Only

(4) (B) and (D) Only

Frerfafira 88 o 2 et 3fafi 3 segsein F vl A <o 27

(A) HATd A=A
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USHHHTE HA 1371 1 S 7]

(C) ¥4 HaTEd T

(D)
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(1)

(2)

(3)

(4)
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[Question ID = 5787][Question Description = Q46_Linguistics_SHAAN_20NOV_S1_Shift2]
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[Option ID = 22596]
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4. 4

[Option ID = 22599]

47) The English word ‘salary’ is derived from Latin ‘salarium’ meaning a soldier’s allotment of salt which then become a
soldier’s wage, and finally, refers to wages in general in English. What kind of semantic change is it?

(A)
(B)
©
(D)

Displacement
Synecdoche
Widening

Narrowing

Choose the most appropriate answer from the options given below :

(1)
(2)
3)
(4)

(A) and (B) Only
(B) and (D) Only
(C) Only
(D) Only

WS W WEE Tl , i Tafem’ i sgafs @ e wd o e 2t % o anw o oaEeT =@
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(D) A4 FFEA
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Fae (A) ¥ (B)
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[Question ID = 5788][Question Description = Q47_Linguistics_SHAAN_20NOV_S1_Shift2]
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3.3

[Option ID = 22602]
4. 4

[Option ID = 22603]

48) Which of the following are true for Auxiliary language?

(A) It is an additional language used for wider communication in a community or across
communities

(B) Swahili and German fulfill this function in many African Countries
(©) Speakers often have limited proficiency in the auxiliary languages
(D) It is never functionally restricted

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (C) Only

(2) (A) and (C) Only

3) (C) and (D) Only

(4) (B) and (D) Only

fraferfiaa 4 4 =9 —a1 weme a o fou a8 27
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(B) 31 ETRI g9  wEtieet] ST S 91T S T o e 2
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(4 Fae (B) 3l (D)
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1.1
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[Option ID = 22606]
4. 4

[Option ID = 22607]

49) Which of the following are true for channel cues?

(A) They are paralinguistic features which signal a shift in interview situation



(B) In Labovian sociolinguistics particular attention is paid to channel cues

(©) Labov insisted that each contextual style had to be accompanied by appropriate channel cues
(D) In particular, speech rate and laughter were not considered as channel cues

Choose the most appropriate answer from the options given below :

1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

3) (A) and (D) Only

4) (B) and (D) Only

Acrgedshi # foru #lg- wd 27
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(©)

(D)
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[Question ID = 5790][Question Description = Q49_Linguistics_SHAAN_20NOV_S1_Shift2]
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[Option ID = 22608]
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[Option ID = 22609]

3.3

[Option ID = 22610]

4. 4

[Option ID = 22611]

50) Which of the following is true for Labov’s New York departmental stores study?

(A) Labov believed that r-pronunciation before vowels was being re-introduced into New York speech from
above

(B) The introduction of r-pronunciation after vowels was a feature of the yonger people rather than of older
people

(©) This feature was more likely to occur as the formality level in speech increased and would be more likely at
the ends of words (floor) than before consonants (fourth)

(D) He set out to test his hypothesis by walking around three New York departmental stores which were
demarcated by the social-class group to which they catered

(E) From the shop assistant Labov would seek a careful repetition of ‘fourth floor’ by pretending not to hear the
initial response’

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B), (C), (D) and (E) Only

(3) (A), (C), (D) and (E) Only

(4) (A), (D) and (E) Only
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[Question ID = 5791][Question Description = Q50_Linguistics_SHAAN_20NOV_S1_Shift2]
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3.3

[Option ID = 22614]
4. 4

[Option ID = 22615]

51) Which of the following is/are not true about absolute ‘universal’?

(A) All languages have consonant and vowel sounds
(B) All languages distinguish nouns from verbs
(©) All languages mark subject agreement on the verb

(D) All languages have ways to form questions

Choose the most appropriate answer from the options given below :
1) (A) and (B) Only

(2) (A), (B) and (D) Only

(3) (B) and (D) Only

(4) (A), (C) and (D) Only

‘T wrm’ % v 4 fyefoiad 8 9 -8 sy a3 T8 37
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[Option ID = 22619]
52) Which of the following statements is true?
(A) The vowel / a / has developed a rounded and backed pronunciations in the east, the northwest and konkani
(B) The loss of aspiration in the Dardic group languages results in unaspirated voiced stops
(C) Hindi has / X / in its phonological system
(D) Aspirated voiced stops in Hindi has lost its aspiration in word initial position
Choose the most appropriate answer from the options given below :
(1) (A) Only
(2) (A) and (B) Only

(3) (D) Only
(4) (A), (B) and (C) Only

Frpeferfiaa 0 4 i\ -a1/4 #uq =1 27
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4. 4

[Option ID = 22623]



53) Which of the following are true about the V; in a compound verb?
(A) The V;is called a light verb
(B) The V;is called a polar verb

(€) The V;is called an explicator verb
(D) The V;is called a grammaticalized verb
(E) The V;is called a de-lexicalized verb

Choose the correct answer from the options given below :
(1) (B), (C), (D), (E) Only

(2) (A), (D), (E) Only

(3) (A), (B), (C), (D) and (E) Only

(4) (A), (C), (D), (E) Only

Ay T 1 Ve 5 fawa i Fefafaa § 99 -5 sy 93 27

(A) Vol afior fan #ed 2

(B) Vool ygdia G e 21

(C) Voo fad=re fFan whed 21

(D) Vool samatiord foran ad 21
(E) Vo fasrszemsfisga forn wea 21

=t feu o fersped 1 | Has 3G I 1 =9 i
(1)  Fa« @B). (C). (D) 3 (E)

(2) %9 (A), (D) 3 (E)

(3)  FAE (A). B). (C). (D) 3 (B)

(4)  %ae (A), (C), (D) 3¥ (E)

[Question ID = 5794][Question Description = Q53_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22624]
2.2

[Option ID = 22625]
3.3

[Option ID = 22626]
4. 4

[Option ID = 22627]

54) Read the following statements carefully and choose the most appropriate answer with reference to ‘error’ :
(A) There is no difference between ‘mistake’ and ‘error’

(B) Errors belong to the level of ‘competence’

©) Mistakes are systematic when errors are not

(D) Errors are systematic when mistakes are not

Choose the most appropriate answer from the options given below :

M (A) Only

(2) (B) and (C) Only

3) (B) and (D) Only

(4) (A) and (D) Only



Fnferfia i o1 sardss v i ‘gfe’ % Ha d waifus S 3o 1 =0 G
&) A SR e’ A w0 s

B)  Fieai amed F o g

(C)  aulfisar syawemyes d@e & g2 gfeai )

(D)  gfeal =raraTe 2 & W sTia 44|

A 3w fespedi O 3 Ha 309 30 a1 =924 i
(1) el (A)

(2) el (B) 3 (O)

(3) 4 (B) (D)

(4)  Fdd (A) 3 (D)

[Question ID = 5795][Question Description = Q54_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22628]
2.2

[Option ID = 22629]
3.3

[Option ID = 22630]
4. 4

[Option ID = 22631]

55) CHILDES is
(A) A computer program for teching children new words
(B) Child directed speech by adults
(©) A computerized database of child speech transcript
(D) An electronic child language database
Choose the most appropriate answer from the options given below :
(1) (A) and (C) Only
(2) (C) and (D) Only
(3) (A), (C), (D) Only
(4) (B) Only

CHILDES #1 27

(A) w1 F1 U I8 TgTH o foTo Feger g
(B)  aFEHl 519 A afema am

(C) =i o arf fAeis 1 Fegeudse SRy

(D) Tl e 9T S

= feo o fasedi 0 3§ Tad 3uges 30 %1 =9 Fif;



(1)

(2)

(3)

(4)

e (A) 3 (C)
*Hae (C) 31 (D)
+4e (A). (C) 3 (D)

9 (B)

[Question ID = 5796][Question Description = Q55_Linguistics_SHAAN_20NOV_S1_Shift2]

1.1

[Option ID = 22632]

2.2

[Option ID = 22633]

3.3

[Option ID = 22634]

4. 4

[Option ID = 22635]

56) Choose the correct answer :

(A) Symbolic representation can be a powerful source of meaning in advertisements
(B) Symbols are associations of ideas
(9] Symbols are culturally agreed conventions so it is perfectly possible that it may not give the same meaning in
another culture
(D) For all the above reasons symbols are not very useful for advertisers
Choose the most appropriate answer from the options given below :
(1) (A) and (D) Only
(2) (A), (B) and (D) Only
3) (A), (B) and (C) Only
(4) (A), (B), (C) and (D) Only
|l I 1 =ad fifer :
(A)  YedTarenss faeaor fasri o 31 & yaragmed wid 2 g 21
(B)  welrehi ¥ forervi = wreed #d 2
(C)  wdieh weapfd fafore #id 2 sra: 22 pia: 99a 2 T gaf desfa d e wum 514 3 faet|
(D) 3wk Al RO 8 udie fasmerdisdi & fore sea suanfi 927 21

e fau o faskedi | Has 399 3 1 954 Fhifer;

)

(2

(3

4

Had (A) 31 (D)

%9 (A), (B) 3R (D)

Had (A), (B) 31 (C)

Had (A). (B). (C) ¥ (D)

[Question ID = 5797][Question Description = Q56_Linguistics_SHAAN_20NOV_S1_Shift2]

1.1

[Option ID = 22636]

2.2

[Option ID = 22637]

3. 3



[Option ID = 22638]
4. 4

[Option ID = 22639]

57) Match List | with List 1l :

List | List Il
(A) Forensic Linguistics 0] Language and Literature
(B) Socio Linguistics () Language and Society
(C) Neuro Linguistics () Language and Brain

(IV) Application of linguistics to
criminology issues

(D) Stylistics
Choose the correct answer from the options given below :
(1) (A)-(), (B)-(N), (C)-(1n), (D)-(IV)

(2)  (A)-(n, (B)-(), (C)-(1), (D)-(1V)
(3)  (A)-(IV), (B)-(I), (C)-(l), (D)-(D

4)  (A)-(m, (B)-(1V), (C)-(I), (D)-(1)

|1 T |12 gefi 11 =1 ety Fifs)
-1 =111
(A) ETARF ST (@ o s afEe
(B)  HHTE - (D) o 3 aaT
(C) dfa=r amfasmA (III) o1 37 afedss
(D) defifasm (IV) sr9er fasma dash g § srfas 0 gam
Jt fau o faskedi 0 & | 39 1 = Fif

(1)  (A)-D. B)-AD. (C)-IID. (D)-(IV)

(2)  (A)-D. (B)-ID. (C)-(D. (D)-(IV)

(3  (A)-AV). (B)-). (C)-ILD). (D)D)

4 (A)-ID. (B)-0V). (O)-1D. (D)-(I)
[Question ID = 5798][Question Description = Q57_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22640]
2.2

[Option ID = 22641]
3.3

[Option ID = 22642]
4. 4

[Option ID = 22643]

58) Match List | with List Il :

List | List Il
(A)  Fo- Fundamental tone 0] Stop consonant + vowel
sequence
(B) Fj4- First formant () Voice - vocal card vibration

(C) F3- Second formant () Vowel height



(D) F3- transition, abrupt change to
steadystate

(IV) Vowel : front-back
Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(l), (C)-(1V), (D)-(D

(2)  (A)-(), (B)-(I1), (C)-(1V), (D)-(lI)

(3)  (A)-(I), (B)-(1), (C)-(1n), (D)-(IV)

4 (A)-(V), (B)-(I), (C)-(ID), (D)-(1)

H 1 w19 gl 111 e it
-1 H1-1T
(A) F, sA=rRgd a4 (D o931 =0 + TR Y
(B) F, 99 H2 (II) =9 T T3 F9
(C) F, feda dni= (D) == S
(D) F, =zuvi-feafa 4 srames giady (IV) *=i: 37—y

4 o o faseai 4 4 a9 3o & = Fifu

(1)  A-AD. (B)-(I1D). (C)-(IV), (D)-(I)
2 A-O. ®-ID, (O)-(IV), (D)-(IID)
3  (A)-aD. B)-D. (O)-IID). (D)-(IV)
4 (A)-AV). B)-I1D. (O)-ID). (D)-(D)
[Question ID = 5799][Question Description = Q58_Linguistics_SHAAN_20NOV_S1_Shift2]

1.1

[Option ID = 22644]
2.2

[Option ID = 22645]
3.3

[Option ID = 22646]
4. 4

[Option ID = 22647]

59) Match List | with List Il :
List | List 1l

() Left - headed endocentric

A) Blue tooth
A) ue too compound

(B) Walking stick (I1) Right - headed endocentric

compound
(C) Boy friend (lll) Copulative compound
(D) Attorney General (IV) Exocentric compound

Choose the correct answer from the options given below :
(1 (A)-(), (B)-(IN), (C)-(1), (D)-(IV)
(2)  (A)-(V), (B)-(1n), (C)-(I), (D)-(h
(3)  (A)-(V), (B)-(I1), (C)-(li), (D)-(1)
(4)  (A)-(m), (B)-(I), (C)-(1V), (D)-()

w1 |19 gl 11 %1 fier ife)



H1-1 H=1-11

(A) s (D) R-222 3d: Fiaw gaE
(B) i s (I[) E2-E22 34d: Fi=F TarH
(C) ke (III) #3994

(D) FHH = (IV) =zsiife dur

= fou 1o faereqi d © ad 39 o1 = it

1 (A-D. B)-1D). (C)-(ID), (D)-IV)
2y (A-OV). (B)-(IID). (C)-(D). (D)-(D)
(3 (A)-0V). (B)-(ID), (C)-(ID). (D)-(D)
4  (A-dID. (B)-ID. (C)-(IV). (D)-(I)

[Question ID = 5800][Question Description = Q59_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22648]
2.2

[Option ID = 22649]
3.3

[Option ID = 22650]
4. 4

[Option ID = 22651]

60) Match List | with List Il :
List | List 1l
(A) Copy theory ) replaces trace theory

() needs to be checked off as soon

(B) Last resort . N
as it enters the derivation

(lll) a syntactic operation which is
(C) Strong feature applicable only when other options are
prohibited

(IV) must apply at least once, and if
its single application is sufficient for
the derivation to converge, economy
considerations should block

(D) Spell - out

Choose the correct answer from the options given below :
(1 (A)-(), (B)-(IN), (C)-(1), (D)-(IV)
(2)  (A)-(1), (B)-(1n), (C)-(I), (D)-(IV)
(3)  (A)-(m), (B)-(1V), (C)-(1), (D)-(I)
(4)  (A)-(IV), (B)-(1), (C)-(I1), (D)-(IN)

Tt 1% @y gt I &1 faerm i)
-1 THEI-IT
(A) =it fagmE () 23 fagm =i e Fa 2|
(B) w3 (I) == 3" # =gt § 999 Fal &, 396 ==
=i F =)
(C) &g femraan (IIT) = fa=meneas afFan = @t =) 2 9=

=1 Taw=q ufafog 7



(D) & A= (IV) FH-5-F8 TF &0 @7] =26 =0e0 317 305
T B, A W0 SETE AT A AW B

Hi= 20 U faeat 5§ W IO 0 =94e i

1 A-D. B)-(1D, (C)-(II). (D)-IAV)

2  A-D. B)-II). (C)-ID. (D)-av)

(3)  (A)-aID. (B)-(IV). (C)-(D. (D)-(ID

4)  (A-AV). (B)-(D. (C)-dD), (D)-(III)
[Question ID = 5801][Question Description = Q60_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22652]
2.2

[Option ID = 22653]
3.3

[Option ID = 22654]
4. 4

[Option ID = 22655]

61) Match List | with List Il :

List | List 1l
(A) John Chewed it with his teeth ) Improbability
(B) The balloon rose ever lower () Zeugma

(C) John expired the same day as

Il Di
his driving licence (lil) Dissonance

(D) The puppy finished off a whole
bottle of whisky

(IV) Pleonasm
Choose the correct answer from the options given below :

(1) (A)-(), (B)-(Ih), (C)-(1n), (D)-(IV)

(2)  (A)-(D, (B)-(n), (C)-(IV), (D)-(1)

(3)  (A)-(m), (B)-(IV), (C)-(I), (D)-(h

4)  (A)-(v), (B)-(ln), (C)-(ID), (D)-(1)

|1 T o a1 = 11 =1 e shifs)

- i 11
(A) o =g 32 fag fem Ay (D g
(B) & sl 1 et el (I  wm

(C) SfF wsgums 2 8y S uel fen gefamengdm (D) fasmrfean
(D) = udl fiEfave e u & siee s feeeh (IV) weerie

4 fau o e 6 § w390 o = Fifsw

1 (&A@, B)-11). (O)-ID). (D)-IV)
@  @-dD. (B)-UD. (C)-(IV). (D)-(D)
3 (A)-dID. (B)-1V), (C)-aD). (D)-(D
@ (A)-aV). (B)-IID), (C)-aD). (D)-(

[Question ID = 5802][Question Description = Q61_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1



[Option ID = 22656]
2.2

[Option ID = 22657]
3.3

[Option ID = 22658]
4. 4

[Option ID = 22659]

62) Match List | with List Il :
List | List Il

(A) | broke this tooth first and then

| Empathetic
that one next 0 P

(B) He looked down and saw the gun

: this was the murder weapon, he () Discourse deictic
realized

(C) It sounded like this : whoosh () Transposed

(D) He went and hit that man (IV) Gestural contrastive

Choose the correct answer from the options given below :
(1 (A)-(V), (B)-(I), (C)-(I), (D)-(1)
2) (A=), (B)-(ID, (C)-(1), (D)-(IV)
(3)  (A)-(n), (B)-(1), (C)-(IV), (D)-(1)
(4)  (A)-(m, (B)-(I), (C)-(), (D)-(1V)

g 1% |y gl 11 o frerma fife)
g1 H1-1T
(A) =78 sk fom ao W Ug 29 32 99 TR () dgHYfd
B) Atz Rede audian, ) o Few
(C) U oligh fom: = () foeifa
(D) & de U faz 22 B9 (IV) i safarf

1 fou o faeradi O | | 3 1 =9 Fife

(1) (A)-(IV). (B)-(I1I). (C)-(1I). (D)-(D

(2) (A)-(D., (B)-(II). (C)-(I1D). (D)-IdV)

(3) (A)-(ID). (B)-(III). (C)-(IV). (D)-(D)

(4 (A)-(I1I). (B)-(II). (C)-(D). (D)-IV)
[Question ID = 5803][Question Description = Q62_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22660]
2.2

[Option ID = 22661]
3.3

[Option ID = 22662]
4. 4

[Option ID = 22663]

63) Match List | with List Il :
List | List Il



(A) The regularity principle ) isogloss

(B) Lexical diffusion (1) pidgin

(C) A linguistic feature that marks

the boundary of an area in which it is (lll) Neogrammarian hypothesis
used

(D) A minimal contact language (IvV) William Wang

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(h, (C)-(IV), (D)-(lN)
(2)  (A)-(m), (B)-(1v), (C)-(h, (D)-(1)
(3)  (A)-(), (B)-(lln), (C)-(IN), (D)-(IV)
(4)  (A)-(ID, (B)-(IV), (C)-(li), (D)-()

A=A T o v 5= 11 1 et i)
Eeil! el 11

(A) FEfgaa e (D HuuTTy HiuvE

(B) nfsce fagm (I fufem

(C) sk wifver safurereqor <fl 3w|ek W &3 ol 3 (IID) Farameiore: Taea-
=1 Tafed wa 2

(D)  SAqaH eI a7 (@v) faferag 3

A= fou o fasreai o | wdi 39 o1 =A Fifeo

(L (A)-ID. (B)-(D. (C)-(IV). (D)-(I1I)

(2) (A)-III). (B)-AV). (O)-(D)., (D)-(ID)

(3) (A)-D). (B)-I). (C)«IL). (D)-TV)

4) (A)-(1D), (B)-(IV). (C)-(II). (D)-(I)
[Question ID = 5804][Question Description = Q63_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1

[Option ID = 22664]
2.2

[Option ID = 22665]
3.3

[Option ID = 22666]
4. 4

[Option ID = 22667]

64) Match List | with List Il :
List | List Il

phone call, business meeting,

U]
A
(A)  Genre lesson, blog

(B) Topic (II) holidays, sport, sociolinguistics,

politics
(C) Setting () at home, in classroom, in office
(D) Key (IV) serious, jocular, sarcastic

Choose the correct answer from the options given below :
M A=), (B)-(ID, (C)-(1), (D)-(IV)
(2)  (A)-(D), (B)-(1), (C)-(IV), (D)-(1)
(3)  (A)-(ln), (B)-(1V), (C)-(1), (D)-(11)



4 (A)-(V), (B)-(1), (C)-(I1), (D)-(lIT)

w1 1 v 3l 111 et sFifem)

g1 gi-11
(&) famn (D HHFA, IO S3F, IS, Sen
B) Ty (ID) AFFII, et FHTS T, T
(C) fén (IID) = 9L, =hefl e 4, e §
(D) el (@IV) s, fove | srmrrene

H= fau o fasredi 0 0 vl 39 %1 =9 i

1 (A-O, B)-1D), (O)-I1D, (D)-IV)
(2)  (A-ID. (B)-IID. (C)-(IV). (D)-T)
(3)  A-dID. B)-IV). (O)-(I), (D)-ID)
4 (A)-av). (B)-(D, (C)-aD). (D)-IIL)
[Question ID = 5805][Question Description = Q64_Linguistics_ SHAAN_20NOV_S1_Shift2]

1.1

[Option ID = 22668]
2.2

[Option ID = 22669]
3.3

[Option ID = 22670]
4. 4

[Option ID = 22671]

65) Match List | with List Il :
List | List 1l

) Statements about forms that
(A) Formal universals relate to the presence of one property
to the presence of other property

(Il) Statements on the features of

(B) Substantive universals .
language that are exceptionless

(lll) Statements on the elements of
grammar that are posited as universals
such as verb, noun, subject and
object etc.,

(C) Absolutive universals

(IV) Statements on the rules of

(D) Implicational universals
grammer

Choose the correct answer from the options given below :
(1) (A)-(m), (B)-(I), (C)-(1V), (D)-(1)
(2)  (A)-(V), (B)-(I), (C)-(I), (D)-(1)
3) (A=), (B)-(I), (C)-(IV), (D)-(lIT)
(4)  (A)-(D, (B)-(1), (C)-(IV), (D)-(I)

= 1o |1y = 11 %1 e fifo)



H1 3w o faeredi | A w0l 3 1 =9 F

(

(2)

(
(

g1
(A) BITeHE HEEH

(B) HAF T
(C) TAmifirs wredm

(D) FfEdeds arym

1 A)-aID, B)-ID. (C)-IV), (D)-@
(A)-(AV). (B)-(IID). (C)-(II). (D)-I)
3 (A)-D. B)-D). (O)-IV). (D)-(ID
9 A-AD. (B)-D. (O-0V), (D)-IID

H1-1T
() = &9 qaitd #24 o1 vk e 6 sufefa
o1 gad e i Jafeetd @ wEe wnid #d
(ID e o forgare wea) o gefie #em
(I} = % 39 dcdl § gaiaa e fa
wE = w9 4 g o e, S e, |,
i, 4 g
(@IV) =l & fem § gefem sem

[Question ID = 5806][Question Description = Q65_Linguistics_ SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22672]
2.2

[Option ID = 22673]
3.3

[Option ID = 22674]
4. 4

[Option ID = 22675]

66) Match List | with List Il :

List |
(A) Interlanguage
(B) Introducing applied linguistics
(C) Classical conditioning

(D) Language testing

List I
) lvan Pavlov
(I1)  Alan Davies
() Larry Selinker
(IV) S. Pit Corder

Choose the correct answer from the options given below :

(1) (A)-(V), (B)-(1), (C)-(I), (D)-(lI)
(2)  (A)-(n), (B)-(1v), (C)-(1), (D)-(ID
(3)  (A)-(1), (B)-(1), (C)-(I), (D)-(IV)
(4)  (A)-(), (B)-(ID), (C)-(IV), (D)-(l1)
Tl 1% w9 gl 111 faerm ifao)
g T
(A) ST

1 fau o fashedi O | | 3T &1 =94 Fifa

(B) Y ArTITH %1 vicaa
(C) eriihl sigae

(D) v S e

1)y  (A)-IV). (B)-D. (C)-(ID), (D)-(II)

Al I1
D 3 T

(D uer =fay

(IID) o Ao

IV) wa. fre FrE



2 (A-AID. (B)-(IV). (O)-). (D)-(ID)
(3 (A1), B)-(ID), (C)-(ID), (D)-IV)
@ (A-D. B)-1ID). (O-IV). (D)-(IID

[Question ID = 5807][Question Description = Q66_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22676]
2.2

[Option ID = 22677]
3.3

[Option ID = 22678]
4. 4

[Option ID = 22679]

67) Match List | with List Il :
List | List Il

(A) In Generative phonology
diacritic features are
introduced into the
derivation of formatives to account
for the apparently exceptional
behaviour of segments

) Refrential function

(B) Hello,....Can you hear me? (Il)  Emotive function

(C) Chandigarh is two hundred and

Ill) Metali | functi
sixty five kilometers from Delhi (i) Metalingual function

(D) Oh! it's still a long way from (IV) Phatic function
home

Choose the correct answer from the options given below :
(1) (A)-(m, (B)-(h, (C)-(), (D)-(IV)

(2)  (A)-(1), (B)-(IN), (C)-(i), (D)-(IV)

(3)  (A)-(In, (B)-(li), (C)-(V), (D)-(h

4)  (A)-(m, (B)-(1V), (C)-(1), (D)-(IN)

el 1o @19 gl 11 1 fger shifom)

gl H=-11
(A) usHF @im fagE o fages sfaaeago gedi (1) H@Ead ged
&1 =erfa § snHd 2d 8 Sl @i o 394
SR % PP B9 H F @ B

(B) ell,. @A g fam Hi? (I) 9 I
(C) =g 34 ¢ @22 Us fad] wigg fovem died (LD wovaniver gk
(D) 3 | 328 feed v el 4 %W 2m (IV) =S g
4 fau e fasedi | & wdi 3 1 =24 fifa

(1)  A-IID. B)-D. (C)-(ID). (D)-IV)
@  A-O. B)-ID. (C)-dID. (D)-IV)
(3 (A)-ID. (B)-(ID. (C)-(IV). (D)-(I)
4 (A-D. B)-IV). (C)-(I). (D)-(ID)

[Question ID = 5808][Question Description = Q67_Linguistics_SHAAN_20NOV_S1_Shift2]



1.1

[Option ID = 22680]
2.2

[Option ID = 22681]
3.3

[Option ID = 22682]
4. 4

[Option ID = 22683]

68) Arrange the following chronologically :

(A) Grice, H.P : Meaning

(B) Grice HP : Presupposition and conversational implicature
©) Grice HP : Vacuous names

(D) Grice, HP : Logic and conversation

(E) Grice, HP : Studies in the ways of words

Choose the correct answer from the options given below :
M (A), (B), (C), (D), (E)

(2) (E), (D), (C), (B), (A)

3) (B), (C), (D), (A), (E)

(4) (A), (D), (C), (B), (E)

f=ferfiaa =1 Fremagan sgafed #1)

(A)  TEd, v Ay

(B)  WEd, UA. i, TEHRE SR A HiEad
(C)  urEm, v 9. feRam

(D) wrgd, uAL i, ;SR Eem

(E) g™, va., i, : 9regi & Wahfd =1 seasd

4 fzu 1o fasedi | 4 o 390 %1 = fifau

(1 @), 3. (©C). D). (E)
2 (E). (D). (C). [B). (&)
3 (B). (). D). A). (E)
@ A@).[D.©).®B.E)

[Question ID = 5809][Question Description = Q68_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22684]
2.2

[Option ID = 22685]
3.3

[Option ID = 22686]
4. 4

[Option ID = 22687]

69) Put the following concepts in an order that reflects their evolution over a period of time :
(A) Mother tongue

(B) Need to communicate

©) Two languages in contact

(D) Pidginization



(E)

Creolization

Choose the correct answer from the options given below :

(1)
(2)
3)
(4)

(B), (D), (C), (A), (E)
(C), (B), (D), (E), (A)
(D), (A), (C), (B), (E)
(A), (C), (B), (D), (E)

faefafiaa sraamonsii =1 39 #9 1 @ T 6 ve FTerafy 39 w9 - T veeia 2)

(A)  HREM

(B)  HUww ] ATl

(C) 1 amisti o1 9o

(D) i

(E) e

i fou e fasedi O @ | 3w 1 =5 Fifa
D (B). D). (0. A). (E)

2 (C).(B). D). (E). &)

(3) D). @A.(©).®B).(E

4 (A ©.®). D.E

[Question ID = 5810][Question Description = Q69_Linguistics_SHAAN_20NOV_S1_Shift2]

1.1

[Option ID = 22688]

2.2

[Option ID = 22689]

3.3

[Option ID = 22690]

4. 4

[Option ID = 22691]

70) In what order do the following occur in optimality theory?

(A) Selection takes place through the use of Well-formedness constraints
(B) Low ranked constraints may be violated by higher-ranked constraints

(©) The candidate representation which best satisfies the ranked constraint hierarchy is the output
form

(D) Well-formed constraints are ranked in a hierarchy of relevance on a language particular basis
(E) An input representation is associated with a class of candidate output representations
Choose the correct answer from the options given below :

(1) (D), (C), (B), (A), (E)

(2)  (A), (O), (E), (D), (B)

(3)  (B), (D), (A), (C), (E)

(4)  (E), (A), (D), (B), (C)

‘gudndl’ feTa (sAifedferd faama) 4 Fefefiaa fra oa d s 2.

(A)

HIEA SIS % W o g 8 = w2



(B)  F=EmrEE segar ey aifes svegans 1 3gea 1 g 2

(C)  TIf-ieh sITEae] ST ol 30 €Y H 5GP o el seeff ufereqor se w9 g 2
(D) 4134 SeAAT e W1 frs ST g 1 o e o EaiEd

(E) U 3A1EH Wiaeww v sywaedf e wioe <61 4ofl & et 2 2)

= fou o fawedi 4 o |81 3 =2 Fifs

(1) (D). (C). (B). (A). (E)
@ A).(©),. (E). (D). B
(3 (B (D). (A). (O). (E)
4 (E). (A, D). (B). (©)

[Question ID = 5811][Question Description = Q70_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22692]
2.2

[Option ID = 22693]
3.3

[Option ID = 22694]
4. 4

[Option ID = 22695]

71) Arrange the following in chronological order :
(A) Steven Abney: The English Noun pharse in its sentential aspect
(B) Noam Chomsky: Remarks on nominalization
(©) Juan Uriagreka: Rhyme and Reason: An indroduction to minimalist syntax
(D) J.F. Ross: Constraints on variables in syntax
(E) R.B. Lees: The Grammar of English Nominalizations

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D), (E)
(2) (C), (A), (E), (D), (B)
3) (E), (D), (B), (A), (C)
(4) (D), (C), (A), (B), (E)
Trerferfiaa =1 srersarHr snafhd i
(A) TR v ;T gfas 91Ea B g 3o g i snoiee
B) == fod sim TfaeEsEE
(C) SR gftamia] : 738 U2 fi5H: A 3=2i=4vM 2 ffufore fa-ay
(D) W, U W ;. Fod-ey 379 afvesy 33 sy
(E) . i g ;2 ar i gt sy
4 fau o fasedi 0 | |/ 3w %1 =95 Fifeo
(1 Q). B, (©C). D). (E
2 (0., (E. D). ®B
3)  (E). (D). B). &), (C)
4 (D). (C).(A).(B).(E)

[Question ID = 5812][Question Description = Q71_Linguistics_SHAAN_20NOV_S1_Shift2]



1.1

[Option ID = 22696]
2.2

[Option ID = 22697]
3.3

[Option ID = 22698]
4. 4

[Option ID = 22699]

72) Arrange the following teaching methods and hypotheses in terms of their appearance from the earliest to the latest :
(A) Error Analysis
(B) Communicative Language Teaching
©) Contrastive Analysis
(D) Input Hypothesis
(E) Monitor Model
Choose the correct answer from the options given below
M (D), (C), (B), (A), (E)
(2) (A), (C), (D), (B), (E)
(3) (B), (A), (C), (E), (D)
(4) (©), (A), (B), (E), (D)

Frfeafiaa s1eag onfer | ve Weega3 &1 395 3 & 9 ° Ui 4 3310 a= safem =i
(A Ff faverm

(B)  =usvitg g fareo

(C) Y2 g

(D)  wiEieq eyl

1 fou e fasredi 4 | 9 3 #1994 Ffifao

1 (D). ©).B). A. (E)
2y @, (©). D). (B). (E)
(3 (B A, (C). (E). (D)
4 (O). &), [B). (E). (D)
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1.1

[Option ID = 22700]
2.2

[Option ID = 22701]
3.3

[Option ID = 22702]
4. 4
[Option ID = 22703]
73) Arrange the following in chronological order :
(A) Rene Appel and Pieter Muysken. ‘Language contact and Bilingualism’

(B) John B. Pride and Janet Holmes ‘Sociolinguistics’

(C) Lesely Milroy ‘Language and Social Networks’



(D) Peter Trudgill. ‘Introducing language and society’
(E) S.G. Thomason. ‘Language contact : An Introduction’
Choose the correct answer from the options given below
(1) (D), (B), (C), (A), (E) (2) (C), (D), (E), (B), (A)

(3) (A), (E), (D), (B), (C) (4) (B), (C), (D), (A), (E)
Frferfiae =01 sremraEm safi fifsg
(A) 13 30 U der ggeka ‘e widae vg agfenpaifersy
B) . grze U2 S e wifr fafafea”
(C) ol faeim ol ug sivre Jeada’
(D) e zefe “sregfim S v gEEd

(E) 0 dmme RS e ud 3aEasE

4= fou o faredi 0 O od 39 1 =99 fifso
(1) (D). (B). (C). (A). (E)
(2) (C). (D), (E). (B). (A4)
(3) (A). (E), (D). (B). (O)
(4 (B). (C). (D). (A). (E)
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1.1

[Option ID = 22704]
2.2

[Option ID = 22705]
3.3

[Option ID = 22706]
4. 4
[Option ID = 22707]
74) Arrange the following in chronological order :
(A) Chatterji, S.K. : Indo Aryan and Hindi
(B) Grierson, George : Linguistic Survey of India
(C) Hook, Peter : India as a Semantic Area
(D) Colin P, Masica : The Indo-Aryan Languages
(E) Turner, R.L : A comparative dictionary of Indo-Aryan Languages
Choose the correct answer from the options given below :
(1) (A), (B), (C), (D), (E) (2) (E), (D), (C), (B), (A)

(3) (A), (B), (C), (E), (D) (4) (B), (A), (C), (D), (E)

(A) =i, um, W, ; 32i-RE ue fed



(B)  TEHA, SIS TP REF He HIE 511
(©)  &h, iex - fem st w difos: vfn

@) e R, e : 2 481 s

(B)  oh, s we. v Fdiifea femal sive 321 sida ohesm

A T2 e T 8 4 | 3 =9a Fife
(1) (A ®B). (C). (D). (E)
2)  (E). D), (C). (B).(A)
(3)  (A).(®B).(C).(E). (D)
4 (B).(A).(C). (D). (E)
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1. 1

[Option ID = 22708]
2.2

[Option ID = 22709]
3.3

[Option ID = 22710]
4. 4
[Option ID = 22711]
75) Statement | : At the peak of his career, Hockett was best known for his textbook “A Course in modern linguistics”.
Statement Il : It was written to explore frontiers and indulge in flights of fancy.
In the light of the above statement, Choose the most appropriate answer from the options below :

(1) Both Statement | and Statement Il are correct (2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct

14 21 e oo 2.

Fa41: 39 HEFE T T Fehe F1 waiiae s 396 T v 3a dred fofaiee’ |

foref ot

FYFII: =8 Hwsdi F wa=mn i Fer 6 32 9= 3 fero foran = om)

I e o ST 4, T4 fqu e fased 0 4 v 399w 39 %1 994 fifae

(1) %94 I3 [IEH 6 8
(2) %A I 3R I T &
(3) A 4 3, oAl %A I17eTd 2
(4 %A [ 2, offed FoF [ HE 2

[Question ID = 5816][Question Description = Q75_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1



[Option ID = 22712]
2.2

[Option ID = 22713]
3.3

[Option ID = 22714]
4. 4

[Option ID = 22715]
76) Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion (A) : The English word ‘biotech’ is an example of blending process.
Reason (R) : The English words ‘biology’ and technology are blended to give ‘biotech’.
In the light of the above statements, Choose the correct answer from the options below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

4 &1 e oy 2 usk sifasad (Assertion A) % ®1 1 foifigd 2 o1 35991 39 FW0 (Reason R) = &7

q;

HiFI (A) : HIS| = 952 T (biotech)' YisadaTol ] Wi =1 32w 21

FI (R) SIS o gl ‘arTelrsii (biology) R “dalefisll (technology) 1 Heftd =

‘AT (biotech) =HTE A 21

T A o SreArF °, AT fou e fawedi 0 9 ad 39 =97 fifen

(1)  (A) 3R (R) EFI ¥ 2 311 (R), (A) il 6] =aven 2
2 (A) 3R (R) SH1 83 2, AfFA (R), (A) il W& =amen 74 2
(3) (A)HAD, fF (R) H3E 2

@) (A FEAE R, AFA (R) Fd 2
[Question ID = 5817][Question Description = Q76_Linguistics_SHAAN_20NOV_S1_Shift2]
1.1

[Option ID = 22716]
2.2

[Option ID = 22717]
3.3

[Option ID = 22718]
4. 4

[Option ID = 22719]

77) Statement | : A clitic, which is a reduced form of a free morpheme (word), does not have to occur at the place where
its non-reduced form could occur.

Statement Il : A clitic is a type of obligatorily bound morph which is generally distinguished from an affix on the basis of its
function.

In the light of the above statements, Choose the most appropriate answer from the options given below.



(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

41 g1 e faum 2

FUAL:  IF Sl Tadd ENH I3 F AFd B9 B 2, 98 39 WH W UK A7 2l ¢ el IHH

T —eTerd ¥ UF B 2 |
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(1) %A I iR I EH 9212
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[Question ID = 5818][Question Description = Q77_Linguistics_SHAAN_20NOV_S1_Shift2]
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[Option ID = 22720]
2.2

[Option ID = 22721]
3.3

[Option ID = 22722]
4. 4
[Option ID = 22723]
78) Statement | : A binding is a relation in which the antecedent is in an A-position (Agreement Position).
Statement Il : A-Bar binding is a relation in which the antecedent is in an A-bar position(non-argument position).

In the light of the above statements, Choose the correct answer from the options given below:

(1) Both Statement | and Statement Il are true

(2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

14 g1 e fqu o 2

FUal:  u-amgfen U gEy 2 faed yeg v it 4 w2 (e feafq)

FYAIl:  U-oH uHl Hay 2 Fored qdug v-an aifayE 4 g 2 (- )

I e * ATl H, JT fu e fasiedl 0 | 98 30 &1 =1 Fifae



(1) FHHIRIIEH dea
(2) w9 I3 M e @
(3)  Fud 14 2, i %94 11 519 2

(4)  weF [ 3 2, ik w9 11 9ea 2
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3.3

[Option ID = 22726]
4. 4
[Option ID = 22727]
79) Given below are two statements : one is labelled as Assertion A and the other is labelled as Reasons R.
Assertion (A) : The grammatical relation between the terms must be specified
Reason (R) : The grammatical relations can be specified in a semantically neutral way

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

1 31 #hed fa 1o & v sfusas (Assertion A) & ®9 ¥ forfigd 2 1 28 39% FH (Reason R) & &9

H;
TR (A) : gl = == Jarives gey ffea v g e e
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@ QR A ®) 2
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1.1

[Option ID = 22728]
2.2

[Option ID = 22729]
3.3

[Option ID = 22730]



4. 4

[Option ID = 22731]
80) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion (A) : A typical dictionary definition of metaphor is “the use of word or phrase to mean something different from
the literal meaning.

Reason (R) : Lakoff has argued metaphor is all pervasive in language and so it deserves more constructive consideration.
In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

e F1 e fu o 2 v s7fUseA (Assertion A) o 9 H feifigd 2 A1 3971 365 FR9 (Reason R) & &1

H;
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BRIR
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(1)  (A) 30 (R) aHI 471 7 317 (R), (A) &I 6l =awe 2
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(3) (A)EA, AF ®)EA T2

@ (A, R R Fd e
[Question ID = 5821][Question Description = Q80_Linguistics_SHAAN_20NOV_S1_Shift2]
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[Option ID = 22732]
2.2

[Option ID = 22733]
3.3

[Option ID = 22734]
4. 4

[Option ID = 22735]

81) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion (A) : Borrowed words are usually remodelled to fit the phonological and morphological structure of the borrowing
language.

Reason (R) : The strongest evidence for loan word identification and the direction of borrowing comes from phonological
criteria.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)



(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

i @1 %o oo e 2 usk sifeed (Assertion A) o ¥4 1 foifigd 2 1 95991 36 FRV (Reason R) % 9

II.

?

TR (A) : Aq1EH 919 < i s wufFrgs g O garEsE * oo smra wset i aeE:
g o Sl 21

%1 (R) HUTE ee TEEM ST e ol fewn & e geaa | i mEsi 8 oume
12

YU e o ek 4, 919 fou e fasredi O 4w 39 39 =gA Fifau

(1) (A 3 (R) TH T 2 30 (R), (A) O] =7 2
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[Option ID = 22737]
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4. 4
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82) Given below are two statements :

Statement | : Aptitude is essentially composed of three main abilities (i) phonetic coding ability (ii) language analytic
ability, and (iii) memory ability

Statement Il : Language analytic ability includes “grammatical sensitivity” and “inductive language learning”!
In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

1= 31 #hed fan o 2
FOA1:  wraed sy o o ge st ges En
(i) Tafae g |mme, (i1) 9 faverorars qmed 3in (i) i amed
FAAIL: o Faveronas: areed 4 e SdeArierd SR SRmEHTeRs 9 s e 7

I F9H & 3{Telre °, J= fou o faeedi O 4 v 3o o 999 e



(1) I3 EE 58 F
(2) Y I3 IS Ted &
(3)  wud IHE 2, oifehd o 11 7fetd 2

(49 weH [7ed 2, offhd %eH [LHE 2
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83) Given below are two statements :

Statement | : Comprehensive language documentation includes an outline of the sociolinguistic context in which a
given language is used, as well as audio (and if possible, video) recordings of a wide range of different language
genres and domains of usage

Statement Il : Language documentation differs from traditional linguistic discriptions which have focused almost

exlusively on the grammatical and lexical aspects of a language, and paid little attention to patterns of sociolinguistic
variation

In the light of the above statements, Choose the correct answer from the options given below

(1) Both Statement | and Statement Il are true

(2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Fgd 1 ST OV TSRl O guTe v A5 geyd ) gty wnfye 2 ey 9 g grn 3 fafo
T STl S T o af= sl sffea fremfen (s afe waa a1, @ difea) & wam e = 2

FUFIL:  |T9] TSR GO STNeR faaon O f99 2 S o S w9 Y 9T o SR 3
FITFTA TR W hfzd 2 3717 forrd aars arfasr fa=m & Ued W s sam & T 2

LI e o STl 4, I fau mu faseal 4 @ w39 =299 i

(1) FEIARIIZFaas
(2) &y I3 II5H 3w 2
(3) Y 142, dAffaF9q I w93 2

(4 FHIAUAE, AR FEH LT 2
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[Option ID = 22746]
4. 4
[Option ID = 22747]
84) Given below are two statements :
Statement | : Almost all Indian languages which have SOV as basic word order have post-positions.
Statement Il : Persian, a language with SOV as basic word order, has pre-position.

In the light of the above statements, Choose the most appropriate statement answer from the options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

I 21 wyd fao o 2

FUAT: o gred ams § Gifers see-a SOV 2 2, 338 o |di ° god 214 2

FUAIL:  FEE U, S SOV arel Hifels sea- 1 9 2, 1&g6 2 21
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(1) e[ s IIEH a2
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85) Given below are two statements :

Statement | : Total loss of communication ability due to injury to certain parts of the brain is referred to as Global
Aphasia.

Statement Il : Childhood aphasia can occur as a developmental disorder without any injury to the brain.
In the light of the above statements, Choose the most appropriate statement answer from the options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct
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86) Given below are two Statments :

Statement | : Phonic substance refers to speech seen as a set of physically definable articulatory, acoustic, auditory
properties.

Statement Il : Phonic substance caustitutes an empirical datum to which theories of language must ultimately relate.
In the light of the above statements, Choose the correct answer from the options given below:

(1) Both Statement | and Statement Il are true

(2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true
4l 21 oA fqu o 2.

Fa41: T ded 1 At 2 g o9 difdes w9 4 gitarsy s=mnes s il gaieds $gE
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87) Given below are two statements :

Statement | : A phoneme is the basic form of a sound as sensed mentally rather than spoken or heard.

Statment Il : Each phoneme- a mental abstraction in itself- is mainfested aurally by one or more sounds, called allophones,
which are perceivable sounds corresponding to the phoneme in various environments.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct
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88) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion (A) : Lexical phonology accounts for alternations such as that of [t] and [s] in the words President (prezidont)
and Presidency [prezidensi] respectively.

Reason (R) : Changes such as that between [t] and [th] as in the words photograph [fowtdgraf] and photographer
[(fothDgrofor)] respectively are viewed as post-lexical or as applying outside the lexicon.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is not false
(4) (A) is false but (R) is true
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89) Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion (A) : Source filter theory/model is an acoustic model of speech production.

Reason (R) : Source refers to the waveform of vibrating vocal cards, whereas the oral chamber is the resonance
filter.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
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90) Given below are two statements :

Statement | : Although the Kolhapur corpus of Indian English was initially planned to make it maximally comparable to
the Brown Corpus and the LOB Corpus, there were some deviations in the Kolhapur Corpus from these two Corpora due
to some practical problems

Statement Il : One deviation of Kolhapur Corpus from the Brown and LOB Corpus was synchroncity, the Brown Corpus
and the LOB Corpus stored texts published in 1961, the Kolhapur Corpus stored samples of English texts published later
in 1978

In the light of the above Statements, Choose the most appropriate answer from the options given below

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct
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Topic:- 31Linguistics_B

1) Read the following paragraph carefully and answer the five question that follow :

Adults have metalinguistic knowledge: conscious, analytic, knowledge of their use of language, and often also formal
knowledge of the terminology of grammar. This gives them the means to learn in conscious and analytic ways seemingly
quite different from those of children. They are also able, to some extent, to monitor their speech-comparing their
utterances with their conscious knowledge, and correcting accordingly. The learning style of children is more intuitive and,
it is reasonable to say, more ‘natural’.

The different learning styles of adults and children have been distinguished as ‘learning’ and ‘acquisition’. The conscious
and analytical approach of adults has been termed language learning, and the unconscious and spontaneous approach of
children language acquisition.

Some language teachers doubt whether adults, in speaking, can actually apply such rules as (for English speakers learning
Spanish) ‘The allophone of/d/ after vowel is [8] or even ‘use a with human direct objects’. But learning such rules and using
them in doing classroom practice and homework may be useful as a way to obtain experience with the language, and
practice which child learners obtain naturally.
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In the passage, the term ‘Intuitive has been associated with learning/acquisition of

(1) Children

(2) Adults

(3) Both adults and children

(4) Sometimes adults and sometimes children
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2) Read the following paragraph carefully and answer the five question that follow :

Adults have metalinguistic knowledge: conscious, analytic, knowledge of their use of language, and often also formal
knowledge of the terminology of grammar. This gives them the means to learn in conscious and analytic ways seemingly
quite different from those of children. They are also able, to some extent, to monitor their speech-comparing their
utterances with their conscious knowledge, and correcting accordingly. The learning style of children is more intuitive and,
it is reasonable to say, more ‘natural’.

The different learning styles of adults and children have been distinguished as ‘learning’ and ‘acquisition’. The conscious
and analytical approach of adults has been termed language learning, and the unconscious and spontaneous approach of
children language acquisition.

Some language teachers doubt whether adults, in speaking, can actually apply such rules as (for English speakers learning
Spanish) ‘The allophone of/d/ after vowel is [8] or even ‘use a with human direct objects’. But learning such rules and using
them in doing classroom practice and homework may be useful as a way to obtain experience with the language, and
practice which child learners obtain naturally.
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In the passage, the author feels that learning rules

(1) May be useful for adults

(2) May be useful for children

(3) May be useful for both adults and children

(4) May not be useful for both adults and children
rerion i ot 3 e s % f

() i o oo 3w 2 H%d &

(2) e < fore 3wl 2w

(3) w31 FgEHl <A1 = foru 399nfl € Hed &

FAN =17 T ST 2 S o SR e = Ty



\N=F e e B e e = e e R, i, ki e e T Bt LBt e e

[Question ID = 5833][Question Description = Q92_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1
[Option ID = 22780]
2. 2
[Option ID = 22781]
3. 3

[Option ID = 22782]
4. 4

[Option ID = 22783]

3) Read the following paragraph carefully and answer the five question that follow :

Adults have metalinguistic knowledge: conscious, analytic, knowledge of their use of language, and often also formal
knowledge of the terminology of grammar. This gives them the means to learn in conscious and analytic ways seemingly
quite different from those of children. They are also able, to some extent, to monitor their speech-comparing their
utterances with their conscious knowledge, and correcting accordingly. The learning style of children is more intuitive and,
it is reasonable to say, more ‘natural’.

The different learning styles of adults and children have been distinguished as ‘learning’ and ‘acquisition’. The conscious
and analytical approach of adults has been termed language learning, and the unconscious and spontaneous approach of
children language acquisition.

Some language teachers doubt whether adults, in speaking, can actually apply such rules as (for English speakers learning
Spanish) ‘The allophone of/d/ after vowel is [8] or even ‘use a with human direct objects’. But learning such rules and using
them in doing classroom practice and homework may be useful as a way to obtain experience with the language, and
practice which child learners obtain naturally.

Given below are two statements :
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Statement | : In the passage the author feels that both adults and children acquire/ learn language the same way
Statement Il : According to the passage ‘Acquisition’ is the learning style of children

In the light of the above statements, Choose the most appropriate answer from the options given below:
(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct
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4) Read the following paragraph carefully and answer the five question that follow :

Adults have metalinguistic knowledge: conscious, analytic, knowledge of their use of language, and often also formal
knowledge of the terminology of grammar. This gives them the means to learn in conscious and analytic ways seemingly
quite different from those of children. They are also able, to some extent, to monitor their speech-comparing their
utterances with their conscious knowledge, and correcting accordingly. The learning style of children is more intuitive and,
it is reasonable to say, more ‘natural’.

The different learning styles of adults and children have been distinguished as ‘learning’ and ‘acquisition’. The conscious
and analytical approach of adults has been termed language learning, and the unconscious and spontaneous approach of
children language acquisition.

Some language teachers doubt whether adults, in speaking, can actually apply such rules as (for English speakers learning
Spanish) ‘The allophone of/d/ after vowel is [8] or even ‘use a with human direct objects’. But learning such rules and using
them in doing classroom practice and homework may be useful as a way to obtain experience with the language, and
practice which child learners obtain naturally.
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Given below are two statements:

Statement I: All Adults always have a conscious knowledge of their language and they also always have a strong grasp of
formal grammar of the language they are learning.

Statement Il: Children as well as adults have a conscious and spontaneous approach to language acquisition.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement | and Statement Il are correct (2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct
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5) Read the following paragraph carefully and answer the five question that follow :

Adults have metalinguistic knowledge: conscious, analytic, knowledge of their use of language, and often also formal
knowledge of the terminology of grammar. This gives them the means to learn in conscious and analytic ways seemingly
quite different from those of children. They are also able, to some extent, to monitor their speech-comparing their
utterances with their conscious knowledge, and correcting accordingly. The learning style of children is more intuitive and,
it is reasonable to say, more ‘natural’.

The different learning styles of adults and children have been distinguished as ‘learning’ and ‘acquisition’. The conscious
and analytical approach of adults has been termed language learning, and the unconscious and spontaneous approach of
children language acquisition.

Some language teachers doubt whether adults, in speaking, can actually apply such rules as (for English speakers learning
Spanish) ‘The allophone of/d/ after vowel is [8] or even ‘use a with human direct objects’. But learning such rules and using
them in doing classroom practice and homework may be useful as a way to obtain experience with the language, and
practice which child learners obtain naturally.
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According to the passage, adults

(A) have-knowledge which is metalinguistic

(B) are able to monitor their speech, to some extent

(C) have a ‘natural’ learning style

(D) are analytical in their approach to learning a language

Choose the most appropriate answer from the options given below:
(1) (A) and (B) only (2) (A), (B) and (C) only

(3) (B) and (C) only (4) (A),(B) and (D) only
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Topic:- 31Linguistics_C

1) Read the following paragraph carefully and answer the five question that follow:

Earlier, we focused on the "scientific' analysis of linguistic meaning, particularly in relation to translation equivalence at the
level of individual words and phrases. In this unit, we continue the discussion of equivalence but widen the focus on
meaning and define it in terms of broader contextual categories such as culture and audience in both ST and TT.
Specifically, we will deal with the process of translation, the problems of establishing equivalent effect in translation and
how this factor, which draws heavily on context, affects meaning and determines the choice of translation method.

We also argued that to insist on full translatability across languages and cultures is to risk being incomprehensible (i.e.
producing TTs that are confusing at best). Similarly, to insist on full comprehensibility in translation is to perpetuate the
myth that there is no real difference between translation and other forms of communication. A more reasonable position to
take is perhaps to see translatability and comprehensibility in relative terms. These two principles are not always in conflict,
constantly pulling in opposite directions. In practice, an important assumption which translators entertain seems to be one
epitomized by something. Nida said many years ago, echoing Jakobson (1959): ‘Anything which can be said in one language
can be said in another, unless the form is an essential element of the message’ (Nida and Taber 1969:4).
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In the passage, the author plans to continue the discourse on equivalence and defining it in terms of

(1) Culture and material in ST (2) Material in TT
(3) Both culture and material in ST and TT (4) Both culture and audience in ST and TT
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2) Read the following paragraph carefully and answer the five question that follow:

Earlier, we focused on the "scientific' analysis of linguistic meaning, particularly in relation to translation equivalence at the
level of individual words and phrases. In this unit, we continue the discussion of equivalence but widen the focus on
meaning and define it in terms of broader contextual categories such as culture and audience in both ST and TT.
Specifically, we will deal with the process of translation, the problems of establishing equivalent effect in translation and
how this factor, which draws heavily on context, affects meaning and determines the choice of translation method.

We also argued that to insist on full translatability across languages and cultures is to risk being incomprehensible (i.e.
producing TTs that are confusing at best). Similarly, to insist on full comprehensibility in translation is to perpetuate the
myth that there is no real difference between translation and other forms of communication. A more reasonable position to
take is perhaps to see translatability and comprehensibility in relative terms. These two principles are not always in conflict,
constantly pulling in opposite directions. In practice, an important assumption which translators entertain seems to be one
epitomized by something. Nida said many years ago, echoing Jakobson (1959): ‘Anything which can be said in one language
can be said in another, unless the form is an essential element of the message’ (Nida and Taber 1969:4).
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et & (A uE TT $1 =1 #6 (5772 20 99 71 %8 O9hd 21) FH1 T 3ans 8 99l Sesiear o
W 2H W TH FEEAAT B UHA e 6 SAEE #N W0 3= w1 0 i Anaias dAal T 8| At
FEHEE BT T SFEAT ST SFETeAaT ® A9 T4 48 ¥ 2 S v Ta ¢ F A o e e
feafa =t 2, =1 =man vF T F foiE e 8§ 9w e 2| s d W agEEE v 9 geea
ATIRIT H WG & TEH AEEET T5 56 TR 2| FE AN TEd Aae (1959) i wieat F 5
st 3 Fa, Afg w9 e gem w afed 9 T w7, 9 F F9 ff oF W ° #E o o 2 39 g
orar | ot el A1 EhAT 2 (AT S Ze 1969:4)

The passage points to an earlier analysis in relation to equivalence at:

(A) lexical level

(B) phrasal level

(C) sentential level

(D) discourse level

Choose the most appropriate answer from the options given below

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (A) and (D) only

=TI H A H Hall o ggel fhe m favery i == o fora e o anifaa e man 27

(A)  unfegs
(B)  YgHT R
(C) AT
(D)  Hith &R

= v o fagred | 4 Ja¥ 30gh 39 & =994 it

(L % A) 3 (B)

2  Fad (B) 3 (0)

(3) = (C) 3 (D)

4 FAd (A) (D)
[Question ID = 5838][Question Description = Q97_Linguistics_SHAAN_20NOV_S1_Shift2]
1. 1 [Option ID = 22800]

2. 2 [Option ID = 22801]
3. 3 [Option ID = 22802]



4. 4 [Option ID = 22803]

3) Read the following paragraph carefully and answer the five question that follow:

Earlier, we focused on the "scientific' analysis of linguistic meaning, particularly in relation to translation equivalence at the
level of individual words and phrases. In this unit, we continue the discussion of equivalence but widen the focus on
meaning and define it in terms of broader contextual categories such as culture and audience in both ST and TT.
Specifically, we will deal with the process of translation, the problems of establishing equivalent effect in translation and
how this factor, which draws heavily on context, affects meaning and determines the choice of translation method.

We also argued that to insist on full translatability across languages and cultures is to risk being incomprehensible (i.e.
producing TTs that are confusing at best). Similarly, to insist on full comprehensibility in translation is to perpetuate the
myth that there is no real difference between translation and other forms of communication. A more reasonable position to
take is perhaps to see translatability and comprehensibility in relative terms. These two principles are not always in conflict,
constantly pulling in opposite directions. In practice, an important assumption which translators entertain seems to be one
epitomized by something. Nida said many years ago, echoing Jakobson (1959): ‘Anything which can be said in one language
can be said in another, unless the form is an essential element of the message’ (Nida and Taber 1969:4).

Trfertomm Ty i AT ST S SN AT WAt % IR S (96-100)

TR A ATUE AY % AT [Gveiu W SAE higd A, fRiewt weE i ugey faee o T W
FAE THAAT F HE9 H| 3H TR | 59 FEGeAA W 9= SRl W@ & W AY W Ay # a1
£ o ST 3 TT 21 & TeFtd 3 4an S5t =49 g2d Fifeai % =9 § 39 qfearfg wad 7| faoma: =9 7=
A T ARl TiHAT I, FEATE H WG THE TG FA o WS i, i 59 fawa =i 6w
W A T2 FEF FH AY B GGG HA1 7 AR wgae & % =1 w5 i w2

= =8 W ot gem i 5 uF 9 R TeeE o o 0 O oEar W fEE SR § arEereE i
A 7 (A wE TT =i = w0 5 50 99 7 % Thd 21) SH TR SR § U0 STEeErend ©
T ZH H T AECI F UFA THe 6 A oI UNO % 5= U 6 W anAie A T8 2| A
THETTA B 6 ST SR sEETeA F HvEd: aa g 3 5@ W) o T 2 fF I 9 e e
feafa i 2, 31 emar v g A fawlia o 8 s w #) SEnies 90 W sEeE v aE aaea
HAGTN N A 7 TEH AREAT F 3 TEN 2| FE a9 Und Aeawd (1959) w1 WAt Fd 7
AT A e, Alg w9 R gem o SFEE e T A, 9 S F9 o vk 9§ el o aear 2 59 gEd
o o oft a1 AT 2 (TS S 29 1969:4))

ST in the passage means

(1) Standard text (2) Source text
(3) Specific target (4) Source target

T H ST 3 1 drerd 27
(1) HH= 913 (Standard text) (2) Hd 13 (Source Text)
(3) fafare we (Specific target) (4) =i ez (Source Target)

[Question ID = 5839][Question Description = Q98_Linguistics_ SHAAN_20NOV_S1_Shift2]
1 [Option ID = 22804]
2 [Option ID = 22805]
3 [Option ID = 22806]
4 [Option ID = 22807]

A W N -

4) Read the following paragraph carefully and answer the five question that follow:

Earlier, we focused on the “scientific' analysis of linguistic meaning, particularly in relation to translation equivalence at the
level of individual words and phrases. In this unit, we continue the discussion of equivalence but widen the focus on
meaning and define it in terms of broader contextual categories such as culture and audience in both ST and TT.
Specifically, we will deal with the process of translation, the problems of establishing equivalent effect in translation and
how this factor, which draws heavily on context, affects meaning and determines the choice of translation method.

We also argued that to insist on full translatability across languages and cultures is to risk being incomprehensible (i.e.
producing TTs that are confusing at best). Similarly, to insist on full comprehensibility in translation is to perpetuate the
myth that there is no real difference between translation and other forms of communication. A more reasonable position to
take is perhaps to see translatability and comprehensibility in relative terms. These two principles are not always in conflict,
constantly pulling in opposite directions. In practice, an important assumption which translators entertain seems to be one
epitomized by something. Nida said many years ago, echoing Jakobson (1959): ‘Anything which can be said in one language
can be said in another, unless the form is an essential element of the message’ (Nida and Taber 1969:4).

T Tertaam e @1 saAYE wien H SAuT ATHTie Tyl % I A ¢ (96-100)

TESl FA WIS A9 % AR aveMu W oeAE Higd e, fOuieeR weg oI uEed e % e W
TS TAGATT & G99 H| 36 390 § 29 Gageadl 9 99 951 T8d 7 WA@Y W eHhge H1 faan

I s WEERT LR LT sy A, RGO o A RO EXIL A o v, L S S T A Y f S i RO, L e (W i b Lt s ] Y frii U



-V AT A A TR T OREATETIAE T SRR TR TR ARRTE TR TR AT TR AT TR TR O TEEAA Q8 TR DT

A HOT ATERE i UG I, AR 0 GEHged U9 A # g 6, i 3w e i ae
W AAE 97 TR FE AG 09 A 2 AR R Gt e e

TH 38 W A wEE Al TR U A AR TR § g Y0 oA W OAdE AR 3§ Seasred i
S B (T v TT i T e T w0 9 f FE Tehd 2)) SH TR SEE § U SEEead W
TR A H TE FAECAA B U4 W T AEE N 50 % S w9 A HIE aEAia® SAa T8 2| A
THETA BT TR ST SR STEE i i HYEa: G 20§ gmn 9| ve A 2 6 g 6w e
feafa =t 2, 21 wmaR vk g 1 fawdia G § 9 wd 2| Seeie 9 W agde® v a9 gweayul
FIIWN H A 7 TR AREAT FP 39 THEN 7| FE A9 Und Aeawd (1959) # wiatatE Fd 7
TIEST 7 w1, A w9 O OEm w AtEd 9 T 5, 9 9 B9 ff UF 9 9 FE o0 o & 36 g
o7 o oft T 1 AEAT 2 (AT AN A 1969:4) |

Accorting to the passage, focusing on full translability may lead to

(1) Better acceptance (2) Wider acceptance
(3) Incomprehensibility (4) Writer’s block

TRV o SFFHR YU S W A1 g #H 4 FHefataa O | feaeh aaaar 27

(1) s =i (@)  siferen foga =Hifa
(3)  HAAFETAl (4) g seirh
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4 [Option ID = 22811]
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5) Read the following paragraph carefully and answer the five question that follow:

Earlier, we focused on the "scientific' analysis of linguistic meaning, particularly in relation to translation equivalence at the
level of individual words and phrases. In this unit, we continue the discussion of equivalence but widen the focus on
meaning and define it in terms of broader contextual categories such as culture and audience in both ST and TT.
Specifically, we will deal with the process of translation, the problems of establishing equivalent effect in translation and
how this factor, which draws heavily on context, affects meaning and determines the choice of translation method.

We also argued that to insist on full translatability across languages and cultures is to risk being incomprehensible (i.e.
producing TTs that are confusing at best). Similarly, to insist on full comprehensibility in translation is to perpetuate the
myth that there is no real difference between translation and other forms of communication. A more reasonable position to
take is perhaps to see translatability and comprehensibility in relative terms. These two principles are not always in conflict,
constantly pulling in opposite directions. In practice, an important assumption which translators entertain seems to be one
epitomized by something. Nida said many years ago, echoing Jakobson (1959): ‘Anything which can be said in one language
can be said in another, unless the form is an essential element of the message’ (Nida and Taber 1969:4).

TrfeTiam Ty ST ST S IHEY AT Tt % IR S (96-100)

TRl BHA AU #Y % AT [9veu W SAH whigd A, fRieet wee 3 ugEy R o T W
AT GHAEAA] F HeY H| 56 TR A 29 GEgeAAl 9 9= 96 TEd § W #@Y W gy #1 eEn
% 3% ST 3 TT 241 § HEHd T A1 JH =9 T2d Hfel & €9 § 30 gieamsd #4d 2| fEwma: =9 72t
WA T IS THAT I, SIS H TG THE T FA o WHEAT N, 1 59 T = 6w
T SAAHET TE FEF B AY T TG A1 2 AR AR G S R i e 2

= =\ W ot gzm i 75 uF 9 AR sl ¥ @ 0 q0 oHadn W SEE R 9§ aaeread i
AR 2 (Al UE TT 1 = wen T 29 9 A FE @ 21) SH1 TR AR | 9 AFSe W
TR 2 E T AEcTA W uyA a5 A R T e = 9 % aEaias Aat T8 2| Aiew
FHETE BT T ST S e 1 wvAa: W g A 2@ 9| ven A6 2 6 e A aaen fawem
et Tt 2, 21 =aR v g 1 e 5 8 9 wA 2| SAEeies 90 W ATEeE U a9 geeayul
AR F A 7 T AWEAT P 38 TER | W a9 Teed AaEd (1959) F ufdeatE W 7Y
e 3 FA, 3fg w9 fFH gem w 9fed 9 T 7, @ F F9 ff o6 Wi ° #E o 2 36 g
o1 | ot w1 A1 EhaT 2 (7SS A1 Ze 1969:4)
Given below are two statements
Statement I: Translatability and comprehensibility are always opposing each other
Statement lI: Anything that can be said in one language can be said in another, provided form is an essential is an important

aspect of the message
In the light of the above statements, choose the most appropriate answer from the options given below



(1) Both Statement | and Statement Il are correct (2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct

A 21 s fauam &
FUAL: SR SR sdE e g v ga o faeda 2 2

FUA I : 3 =0 el dam %1 sfard e 2, @ S F2 ofl o 9 O 7 S wEa © 30 9 am | off
el 9 HHAl 2

I oA o 3Terrk |, e fou e fasedi | 3w 3ugeh 39 o =gH i

(1)  9q [0 e g &
(2) oA I3 ILEHI Tefd 2
(3)  #H 4 2, oifehd A I17erd 2
(4) = I9eAd 8, olfe e ILEd 2
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